00000000000
N
0000000000000
N
N
N
N
RHIC-PHENIX 000000 p+p00000000
N
00000000000

]

OO 0O do0oo0ooQon-d

Ooon
[
20020 20






00000000000
N
0000000000000
N
N
N
N
RHIC-PHENIX 000000 p+p00000000
N
00000000000
N

OO o000 g™

Joon
[
ooooon
[
Jogboooogogod






BN

20000 0000000000000000 RHIC OO 00O Relactive Heavy Ion Col-
lideelDOODO0OO0OOO0OO0DO0OO0OODOOOOO \/MZQOOGQVDDD -0o0ooooog
OOOUORHICOOOOOUOUODOOO PHENIXOOUOOOOPHENIXOOODOOOO
Jgooooooooooooooooooboobobooooooobboooog
gooooobooobooobobooobobooobobooobooboboooboob -bod
00 -00oooQGPOO00O00O0UU0O0UOU0LOUUOL0DUULODUULODULUDODOOOOO
Joodooooooobooooboboobobobobbbobobdddoooooooog
goboobobooboboobbooobooboooboobbooboobboooboo
godoooooooooood

gobooobooboooboobboobobooboooboobobuooboooo
00 -000000000000000000000000020010 12000 2000
00000000 -00000000o00o000000PHENIXODODODODOOOOOO
000 BeamBeamCounter 000 BBCUUOOUOOOOOOOOOODOOOOOoo4ooQ
O00D0U0ooOBBCOODODOODOUOOUOODODOODODOODOOODODOOOOODOOOO
goooboooboboboo -oobb0oobb0oUU0 -obbooobbooobboo
0o0oooooooooooooooooooooooooooo 1oo0oo0o0oo
00000 -0gdoooo00ooooooo0ooooo0oooooo0dRQMD O
0000 -0000oooooo0oO00000O0O0UOoOoOoUBBCOODOUOOOOOOOQ
0o000o0oooD Event 0000000000000 O0O0OO0OO0DOOOOOOOOOO
gobooboboboboobbooobooboooboobbooboobbobooboo
oo oooboboobobobobbbobobdddoooooooog
gob0d -obooobooboobboboboobboooboobboooboboo

ogoooooob -ooooooooooobbbo-ooooboobbobboboooo
0000000 Time Zero CounterD 00 TZCOUOODOOOO -000000O0O

TZCOOODOUOUOUOODOOUOUO ImO0O0OO0O00O0O0O00oooooooooooon
oo oooboboobobobobbobobdddooooogoog
aggoo

gooooooobbooooobooob oo ooooo
ooy ygUgU o
10em 0000000000 ImO0O 2em 000000000 ODO0DOO0ODODOO~60ps
00o00o0o0o0ooooooooooooo?20010 6000

000TZCO0O00000O0O0D3k[Gauss] 00D O0DOD0ODODOODODOODOODODO
0 Fine Mesh 0 00000 0OR5924HAMAMATSUO OO O O0OO0OODOOOOOOO



ii

od

000 k[Gauss| 0000000000 D0O0OO0ODOOODOODOOOODOOODOOODODOOD
tooooboobooobobOooboboOooboobobobOOobOOobOOobOobOobOODbDOoDO
00000003k[Gauss] DO OO0DOOODO0O0DOO0OODODOODOOOOODOODOOOO
coooooooboocoobooono

oooooo0o0oooo0U0oo0UU0DoOKEK-T1OO0OODODOoOoooooooo
0000000002001 0 T-479002[Gev/c]0 n-000000000DOOOODOODO
0000o000oo0o0o0o00ooO0o0oooOo0ooOooooOooooTZCOoOOOOO
0000000000 03k[Gauss] 0000000000000 DO0O0ODO ~60ps00O0
ocooooobooooboo20010 1200

2001080000 TZCUOOOODODOUOUOOOODODOUDDODOOODODODOOPHENIXO
tboobooboobobOooooooboooobOobOOobOOobOOoOoOobobOboOooOoDbOoDnDO
0020010 11000 PHENIXOOOOOOOOD -00000000O000 8OO0
ooo

000020010 12000 200000000000000000000TZCO0OO
000oo0ooO0o00oo00oooO0o0ooOooooODOo0oOoOooooOoOTOoOFOOOO
coboobooooboboooboooooooobOOboOoooOboOooDn



BN

od

od

010
1.1
1.2

1.3

020
2.1

2.2

2.3

24

030
3.1

oo

RHIC-PHENIX OO 00 © o oot e o et
TOOOOOOOOOO . e oot e et e e e e e
121 RHICOOOO p+pO000 vttt e e
122 p+p000000000000 .« o v v o e e
O00000D0 « o v v o e e e e e e e e e e,
131 0000000 . o oot e e
132 0000000 . ..t v ot et

TooOoOooooOoOo

OO00000 ... e e e
21,1 DOOD0 ..
212 DO0O0O0O0O0OO0O0DO .« . e e
213 DO0OO0O00OO0O00O0O0O ..
214 00000 ..o

221 DOO0O0O0O0O ..
222 0000000 .
223 DO0OO0O00O0 .. s
224 PCR .. .. e
gobDoooooooooooon .o oo oo s
231 DOOO0O00O ..
232 00000000000 ..
233 OO0 ..
OO0O0O00000 ... e e

KEKODOODOO

I
3.1 OO o e
3.1.2 000000 ..o e e e e e
313 OO .«

iii

© 00 W = W W =

11
12
12
13
16
17
18
18
19
19
20
21
21
24
25
26



iv

3.2

040
4.1

4.2
4.3

050
5.1
5.2
3.3
5.4

o60

goog

EEN

I 0
321 OO oo e
322 000000 . e
323 OO oo

oo -oooocoo

411 00000 TOOOOOOOOO .« ..o oo
412 0000000000 & .. e e
OODO0OO0000 ... e
.

p+p OO

000000 .« v oo e e e e e e e e e e e e e
callibration OO0 . . . . . . . .o oo s
TOOOODO ..o e e e e e e e e
OOOO .o e e e e e e e e e

oo

00O Monte Carlo Simulation 0 O O

35
35
35
38
42
44

45
45
46
47
48

49

51

53

55



110

HRN

1.1 RHIC-PHENIXOOODO

gooooooooooboooooooooooobooooo0oooooooDo
tooooboobooooobooobooboooOooobobobOoobOobOOobOobOobOODbOoDO
Oo0ooo0oooooooOoooooooQGPUOODOOOODODOOODOOOOOODO
coooboooooboocooooooooOoOoOoOoOboOobOoboboOoboboboOoobOOOoOoOooDooO
000000000 ooUo0oOoUo QGPpOO0ODOUDOODOUDOODOUDO

0000000000 QGPOODOOO0ODODOOODODODOODODOOODDOOOO
000000 100+100AGeVO O OOODDOOOODOODODODOO Relativistic Heavy
Ion ColliderD 000 D0OO0DO 1.1002001 000 /sy =200GeV/ADDOOOOO0O
00000000 12000000000 000000002~ 6GeV/fm3>000
oooobooooobooboobooooooooooobooooobooooboooboOooooDDOg
0000000000000 00oooooQCbO0O0OOD QGPOODODOODOOODO
cooooooboocoobooono

PHEMIX
_*. -

-
B P

Eloreter Lo
= e I_-'-:.ﬂ-rl-rr_. m g

ey o
T et |

01.1: 0000000oog RHIC

012 0000000000O



010 00

RHICODOODOOODOOOODOODOOD PHENIXOOOOOODDODODOODODOOOO
00 QGPOO0O0O0DOOOOOODOODDOUOOOOODDOOOOOOUDOOOOOO
oooogomooooooooKDoOoooooooooooogooopoooooo
0000000000000 o0ooo0o0o0o0oo0ooooooooQGPOO
0000000000000 0000000QGPOODOOODODOOUPHENIXD OO
000 (1.3)000000000000000000000000000000000O0
cooobooooboocobobooooooOoOoOoOoOboOobobooOoobobooobOOOoOooOooDooO
oooobooooboooooboooboooboobOoDbDbOOobOOobDOooDbobOobDOoDOoDO
oooooooooooooobo sooooooooooooooooboooooooon
0000000000000 00ooO0000UoOoOoODOO0000QEGPOOOOO
00 <p,>00000000000000000HBTOOOOOOOOOO0O0O0OO
coooooboooooooo

0 1.3: PHENIX OO



1.2 ToooOooooooo

1.2 ToODOoODoOoOooDO

121 RHICOOOO p+pO0000

gobogoboobuoooboobooboobbooboobboobbobboobo
googoooboobobooooboobooobboooooobboooboboooboobo
O00000000O0O0O0O0OD0ODOOO0O RHICODOODOOOODOODOOOOOOOOOO
000000000000 000o0oAGSO SPSOOO0U0OO0OOUOOODOOOOO
0000000000000 0oo00ooooooon QG0 OO0 OOOOd
goboobobooboobooobbooboooboobboboboobbooboo

coooooboooooooo

01400000 0000000000 DO0O0O0OO0DODOOD0O0OODOOOODOOOO
coobooboobooboobOoOoooobocooOoobOOoboobOOobOOobOOoOOooOoboOonDo

000000 p*0000M000000000000000000000000000

*0000 p

00000000000 00U00o000O000O0U00O00DDOU0D0U00D0OU0O0O0OREHIC DOUOO0DOOUOOOO

cooboooobooooooooOooOooOoOoOoboOoOobooOoOoooOoOooobOboOoOooog pe=

(P2)? + (py)?

goboobobooboboobooobobooboooboobboboboobboooboo

ooooogoo

R.t. Aus g Vi = 130 GaV
corival O-10%
w (h'en 32

s 4 R

l!q

S£F|

| e

2 a e P A |

L=

e

J5iay =31GeV

i

[500r =130GeV

014 p+p0000000




010 00

*Ooooooo y
0000000000000000
00000000000000000
0ooooooooo
00000000000000000
00000000000000000
0ooooo
00000000000 E=e00
000 pO000000OOOOOOY
oo

1 €+ py

y=—Iln——

2 e—py
0D000p, 0000000O0OOO
00000e=+p2+m20000

*Ooooooooon

m~000000000000000
O00DFE~pO0O00yOOooooo
gooooo

y~n= —ln(tang)

0000o0éooooo0o00oooon
oooo

yoooo 200000000000
ooo0ooOoOoooOoooooooo

122 p+p000O000O0OOOCOO

00000000000000000000000000000000000000
000000000000000000000000000000000 JAMOOO
RQMDO0O00000000000000000000000000000000000
D000 (0 15)0(0 1.6)0000% 0000000000200000000000
00000000000000000000000000000000000000 200
00 100000000000

A = A pER
g W "

-
5 L :
. ]

-

dn//

rapidity rapidity 4

015 JAMODOO0OO0DD0O0O0D*O0O000O0O Au+AuD 000 p+p

g WA pEGEN e (SN R - o ke

dn/ dy

" I:Illull'lllil-

paaudorapidity

rapidity
01.6: RQMDODOOODOODOOODO*0OO0O0OO000 p+p

000 PHENIXOOODOOOOODOOODODODOOODOODOOODDODOOODOBBCOOO
0000 (0D 17000 BBCOOODODOODODOO 000000000 ODOODOOOOO
00000 n0 £(3.1~4.0)0000000000000000O0O0OOODOOOODO
goooooopoo 0oooopoooooo

gobooooooooobooobooooooOooOoobObo0ooboo0ooooOoOoOooDn
OBBCOOODODODOOODODODODOODOOOOO

000000000000000 RQMD O PythiaODOOOO/syy = 200[{GeV] O
000000000 00o000o Event 000000000 BBCOOOODDOOOOO
gooooopoooooo 220000

BBCOUOOOODOOOOOOODOOOOOOODOOOOOOOOOUOOOUODOOO
oooobooooboobooooooooooooboooooboooooboooDbobOoooDDOg
O0oo000oo0ooooBBCOOOOOOOOOOODDOOOOO

oooooooooOoooooo0ooooooooooO TOFODODODOODOODOOOO
oooooRQMDOOOOODOOODOODODODODODODOTOFODOBBCOOOOOOO TO
000000 HtODOOOoOoOOoOoooooo18ooooo



1.2 ToooOooooooo

oo BBC trigger | TOC trigger
Au + Au 01000
p + p (RQMD) 420 290
p + p (Pythia) 510 360

011l p+4pO000O0OO0OOCOOOOOO0OOOOOOOCOODODOODOOOOO
0000000000000 RQMDO PythiaODOOO

00180000 TOFO HITOODOUOOOUOOOHITOODO Eventd 84000000
OO00OTOFOOOOO0OO Event 000 EventOO 1600000000BBCOOOO
00000000 TOFO HtOODODOODOD180OOUODOOOO BBCOOODO Event
OOTOFU HtOODOOOO ~10000000000000000000O0DO0OCOOO
OoooOoooToFOODOOOOO0OOOOOODOOODOO0OODDOOUOOOODOOO
gooooo 17000000 ToOOoOoOoOoOoOoOoOooooOooooTOOOOOOO
00000000000 TOFO HitOOOOOOOOOOOOO1.80000000~33
OO0 BBCOOO EventOOODOOOO3000000000000OO

BBCOOUODOOOOOOODOO TooOoOoOOOOOooooOoOoOooooo TOFR
OHtOODOOO Event 000000000000 00018) 0000000000

BBCOOOODOOODODODOODOD TOFO HitOODOOO EventOOOOOOOOO
O0o0o0ooooooToo0ooOoU00oO0OO0OUO000O0OUOU0oOTOFD HtOOOO
oooo

O0oooTooOoOODOOUOO0O0O0OO0 TOFO HitOO EventOOOOOO 3
O000oo00o00o0ooo0ooooooooooooooBBCOOOOO Event 0O
oooooooooog



010 00

:
- AT —
Time Of Flight
ERFx AT~40ps WiEx AT~80ps

TOF

BHC

T0
Verlex

017 BBCOOOOOOOO TOFOOODOOODOOODOOOOOOOODO

BBCOOOOOOOOODOOOD2000000000TOFOOODODOO SmO0O0O0O

OooooTOFOOOOOOODOOO0OODOO0O00O0OO00OoDooOooooooon

gooooooooTOoDOODOOOOOOOOOOOOOOO0O0O0O00MOOOog
gooo



1.2 ToooOooooooo

i N

o5

0.7

a5

035

L5

0.5

rgmd w24, 100GeV p + 100GeV p — charged paricies

Enirias 0000

Maan Q37

= AMS 0.6708
No hit

71%

I
(1] 2 4 & 8 L [E]
1]
‘ Enirina 28557
Maan 03438
| PN _Daaes
TO trigger

~33%

i 2 4 L] @ 10
fod vt K Wi

NOl|has

= "10 trigger
0 2 4 G L o
tol with 10-rgger | lal

7S

s

s

0TS

as

025

1.5

s

Enirlas
Mear
RAWME

No hit
84%

08803 ED T
Qa2

B2
a.1i12
0.3807

BBC trigger

~10%

Eniriss
M
AME

nan

o 2 4 G g 10
td ety e - iy e

multfplicity

- ¥

hiu?

B]EﬁC trigger

] 2 L] L B 0
ol with bibc-or-ingger | 161

018 RQMDOOOOOOOOOO HITOOOO
gooToCOoOoOoOOoOoUOoOoOTOFOOOOOD
gooToCO TOFOOOODOOOOOO
oooBBCO20000000000 TOFOOOOOOOOOO

gomToCO TOFOODOODOOOOOOO/OTOFODOODOODODO
00MBBCO20000000000 TOFOOOODOODOOOODO/OTOFODOODOOOO



8 010 00

1.3 O0OoOoooog

131 0000000

gbobooboooobooboobobobooooooboobobobobooooooon
000000 (1.90000000000000000000000000000O00O0O
* gbooooooooboobobooooooooooboboboobooobooogoo
to : OO OOOO0OD0O0
z:0oogo
ty: 00 PMTOOO
ap : OO0 PMTOODO

T

Pulze Hergint

[,.d (f.a)
ty: 00 PMT OO0 (. a,) !
az : OO PMTOOO 019 0000000
[ 0000ooooooo t1,t2,a1,a0 00000000000
. xXr
A:0000 ty =to+ (1.1)
Vigne:1 0000000000 Ulight
X
ap : 0O ar = ao-exp(—x) (1.2)
l—x
ty = to + (1.3)
Viight
l_
as = ag - exp (— a:) (14)
A
0000Ot,z0000000000
t +to l
tog = — 1.5
0 2 2 Viight (1.5)
t1 —t [
p= L2 Ulight — = (1.6)

2 2
gobooboooboboobooboooboobbobobooboooboon
oooo0oooDoo 6, 00000000 6, 0000000000000

=y (5) 4 (3) o)
0z = Ulight - \/(%)2 + (%)2 (1.8)

000000 PMTOODOOOODDOODODO0OD0O0O0O0O 6, =6, 00000

!
O = —= 1.9
to \/§ ( )
Ulight - 0y
5, = —22=_"% 1.10
V2 (1.10)

oooo
0oo0oo0ooooooo20000000000000000000000000O0A0O
O00000000Ooccupancy level DO O OOOOOOODOOO



1.3 0000000

1.32 O00ODOO0ODOO

000000000 0O0000 time-of-flight method, TOF methodOO O OO OOOO
oo0oooo0o0oooooooooonicoboooooooooooO0 LOooo0ooo
00000000 LOOD0O0O000O0DO00D0DO0 t00D0000000 v=L/t0O
ooooog

t=l} =1
arlicle |
E >
= 2=
L.
Start Conaribed Stop Courites

0110 D0OO0OOOOOOOOOOOOOO

goboobobobbdg pboobbobboobboobbooboo

O0OmOD0OovD000DDOODO40000000000COCO *
— dr
p:% (1.11) U7 d
Vi-v?/e v=|v|0O
1 1
2 2
Hle-gh=m
af (1\? | » 2 2
p{(z) -c—l}:mc (1.12)

01110 200000 PHENIXOOOOOOOOOOOOoooooooooooooo
gooooo

_ PHENIX High Resolution TOF
Au+Au s = 130 A GeV

e

1Momentum [(GeVic) ]
L =

a

=B X PHENIY

%1525253&3 4 45 50 55 B0
Tima af Flight [ris]

0O 1.11: PHENIX-20000 000000000
0oooooo 1/p00O00 to



10 010 00

oopo200000000000000 BBCOOODODODODOOOO TOFOODODOOO
coooboooooooooOoooooboOoOoooOoOoOoOoOoOoOooOoOoOoOobboOoooon

TOF — TOF sppected (1.13)

TOFOOUOOUOODODOUOO0DODOO0O00O0o0ooUoooooDoooooon TOF O
0000000000000 BBCOOOOtimezeroDOOOOOOOOOOOO

TOFezpectea 01001.1200000000000000000000 LOOOOOO
pO000000000DDODO0O0ODOOOODOOOOODOOO mOOOODOO [3]
goooooooogoo

1.120000¢ =TOFezpectea 1000

T FEZ‘CCC 2
p2{( o Lp td) -c2—1}:m2c2

TOFezpected 2 2 m2 2 1
() e = ot

" TOFezpected = (114)

I
O wf~

0 1.120 PHENIXOO 100020000000000000 113000000000

0000000000~ 115psec0000000O0O

N |
IF TR ERE T
o = 115ps
P
K
=1 =18 =1 ull.l W Ih_l‘; 15 lilli

TOFmeasured — TOFexpected [ns]

0O 1.12: PHENIX-2000 000000000000
000MoO0000D4O«0000000000000Ons]



120

oooooooo

ooooooooooooooooooOooooToOODOOOOoOOOODOOOOOO
ooooooooopPMTOOOOOOOOOOOODOOOOODOOOODOOOO

gooooooobooooboooooooooooobooooo0oooooooDo
cooooooooooooooooobooo

11



12

020 TooOoooooOoo

21 ODOOOoOood

211 0O0O0OO

0000000000000 0000Stop Counter 000 TOFOOOOOOOOO
00000000oUo 1,320 (9000)000TOFODODOUDOOD 5mOO0OO
gooooopooTOCODOODOOODOOODOODOOODOODOOOOOOO

ooo000oo0oooo Tooo0oOoOoOoooooooooO0o0o0ooOoooooooD 441
OCOPHENIXOOODODOODODODOODODODODODOODODOODOOODODODODOO
goboobobooboboobooobbooboooboobboboboobbooboo
goboooooooooobobobooooooobogoobobobooooobooom
gobooboboobobooboooboobooboooboobboboboobbooboo
gbooooooooooboboboooog

gy gLog o
ooboOoooOooobo 220000000000DO0OO0DODOOOODOOODOODDOO
oood

00000000000 Im000000oopogoo s36cemdO00ooooTODOO
cooooopooooo0o00 ImOOOOODOOOOOOOO0OO0O0O000 60ecm OO
goboobooobobooo

0 2.1: PHENIXOOOOOOOOOOOOOOOO



21 0000000

= f i

022 ToOOOOOOOOO

212 OJ0O00OO0OO0OOOO

PHENIXOOOODOOOODQGPOOUOOODDOOOUDOOODOOODOUOOOOOODOOp
w,p 0000000000000 00000O000O000O000DODO0ODO0ODO0O
00000 0000 KOOODOOOOODOOOOOOOOOOOooooooKOoOoOo
ooooooobooooooooooooon

gobooooooooobodoooooooooooboodoooooooogoon
cooooooooa

ooooo

1.3.20 (900O00O00O00O0PHENIXD -00000000000002000000
00000000000000000 ~115psec00000

00 -000000000000000000000000000000000000
TOF O ~80psec 000 0000000000000 00000000 TOOOOOO0O
000 /(115)2 — (80)2 ~80psec 0000000 D00000



14

020 TooOoooooOoo

ooo

O00o0o0oo0oo0oo0oo0oUoooooUooU0oooooOog ToCO

000000000 TOFDODOODOODOOODOOOODODOODDO

O0o0ooooo0oooo TOFO ToCcooooooooooooToC OO

- Pl=400MeV
e~ PI=300MeV

&= FI=100M eV

e+ Pi=200 ey
e+ P30 hMeV

e+ Pr=400MeV

100 em

I'ime- ol Flighi detecior

0 23: GEANT3U0OOOOO0OODOOOO0OO0OO0OOoOOoOO

cooobooooboobooooooOooOoooobbooobooOoo

O00000o0oU0O0oooooooooooon 2300 21000000TOF O
p=168°~213°000000000000TOCE r=60cmO00000O0O0OO0O

[0 counter

l

Pt [MeV/c] | Min[degree] | Max[degree] | TOCODDOO ¢0 000
200 118 248 130
300 136 235 100
400 145 230 85

021: 0000000 ToCOOOO ¢oOODO



21 0000000 15

cooooooo

gbobooboooobooboobobobooooooboobobobooooobooon
goboobobooboboobooobobooboooboobboboboobboooboo
goboobooobobuobobooboooboobboobboobooobooo

0220000000000000000O0DODODOOODOOOOOODOODD 2
000000000000000000000000 GEANT3OOODO0OOO0OO0OOO

Om=2y00000000000000000 2400000000000000COO
oooooooooog

024: GEANT3OOOOyO0OOOOODODOOOOO

oooooo
000 | GEANTOO |0ooO00OO
2.0cm 2.50 240
2.5cm 280 3.00
3.0cm 340 3.50

022 00000000000000000

00000 ~80psec0 000000000000 OODODOODOODOODOODO
goboobobooboooobgoo



16

020 TooOoooooOoo

213 O00OO0OO0OOOODOO

Photon Conversion Rejector

000 -00000000000A°000000000000000000000+#°
goood WDDDDDDQ[GeV]DDDDDDDDDDDDDDDD -goooood
googoooooooobgooboooboboboboobooo yoobooboobo O
OD000OD0D0O0O0OD0OPHENIXOOOODOODOODDOODOOODODOO ToCOOOOO
oddoooooooooooogToCOd0OooUoooooooooooooooog
do0o000oO00O0o00O0o00O000U00U0U00UL0DUULODUUOUOU PCRO Photon
Conversion Rejectord 00 00O

OPCROOODOO2/50000000PCRO TOCOODODOODODOOOOOOOOO
oJoooooooooooodoooodooodoogn PCRO ToCOODODOOO
O000D0amTOCOODOOODODOyOO TOCODOOODODOOObDMOOOODDOOPCR
OToCcOoUoUoOoOoOoUUoOoooUUoOoooOoUoooOoUOoOD TOCOoOoOoUDoOoOO
goooooooooo

O00oooPCROOOOOOOOOUOODOOOOOOOOOOODOOOOOOAOO
PCROODODODOOOODOOOOODOOOcOODODOUOOOOOODOOODOOOOODOO
do00O0OoOoOooOoooPPCROODOOOOODOOOOOOOOOOOOCOOOOOO
Ddd0oooooooooooouoodiaddooooooooog PCROOOO
O00000oO0oOooOoooooD PCROODyDOOODOODOODOcOOODOOOOOO
godobobooooobobbbobabooobobbbboooobbooooobboooa
Jodooooooooooooooo

PCR  TOC PCR | TOC
Charged Particle
. (a)| 1 1
et
g S A [ R |1
— ot (c)| 1 1
¥ ray ; e
r:_--_-_-_-_-_--_-_-_*ﬁ_._

025 PCROOO




21 0000000

17

214 00000

00260 PHENIXOOUOOOOOODOODOOOOPHENIXOOOOODOOODOO
0000000000000 20000002000000000 INNERCOILOOOO
OoooooooooooooooooooooooooTOCOO PMTOOOOOODO
oo0ooooooooooooooooooooooo pPMTOODOOODODOOOOO
gooooooooooopooooo0oL00ooo0 ROopoooooooooooooOo

cENTRAL |
o -
0
T0 counter R
= Bl = - |
CENTAAL AGNET - &
IR @, A
¢ ouidk
iziol 1 N . —{EE
STE COFPER i

wWE W coLL iRl N G

i -

026 ToCOOODO

goooooooooooooooooooooo0 ROODOODOOOoOooOOooDOoO
0o000o0oooooooooooPMTOOOOOODOOOO 270000PMT O
R ~60cm,Z ~60em 0000000000000 O0O0OOO 3000~5000[Gauss] O O
ocooooooo3ooooooobobooooooooooooooooooboobooo
gooooooooo pMTOOOOOOOOODOO

Tk Ealss

0 — .- . i '. . 5 - 2 R

RIS

| |
dl Ta ] R [em]

L

027 ToCO PMTOOOOOOOO



18

020 TooOoooooOoo

22 00O

221 O0OODOODO

2140 (17000)00000000PMTOOOO0OODOOODOOOOOOOOOO
ooooooooooooooooOooooooo PMTOOOOOOO

000000000000 0000D gain000000~ 1000000000000
00000000000000000 ~10°0000HAMAMATSU H6614-01 (R5924)
oooooooooog

Tube Diameter 51lmm (27)
T.T.S 440 psec
Rise Time 2.5nsec

Anode Effective Area ¢39mm

Current, Amplification 1 x 107 at 0 Tesla
4.1x10%  at 0.5 Tesla
2.0 x 10> at 1.0 Tesla

0 2.3: HAMAMATSU H6614(R5924) 00 O

Fig.e: Msias & MEAD Typleal Goerant Al leat e
in Magnetico Fields
i

- -
“SUPPLY WTLTHEE : 20004 ]

13%

FELATIVE GA
i
,i'"'
/

I"%' I Y

s WaGHETIZ
" & RELD “:.ﬁ

- | S| 5
a 33 351 497 1.0 125 1.2

-2

g

PAAGHETIC FIELLE {Taala)

Vi

029 000000000
0 2.8: HAMAMATSU H6614 (R5924)



22 00

222 0O00O0OOOOO

O00000000OBICRONOO BC40400000O00O0O0ODOOOOODODOO
000000000000 oOUo (TORUOLDODOOUODODO0DDOODO0ODUDOD BC-404
O000ooo0o0oooooooooooooooBC40400000000O000ODO
0120000 1/e0DO0O

Base Polyvinyltoluene
Density 1.032 g/cm?
dE [dz|min 1.956 72
Refractive Index 1.58
Light Output , Anthracene 68 %
Rise Time 0.7 ns
Decay Time 1.8 ns
Pulse Width , FWHM 2.2 ns
Light Attenuation Length 140 cm
Wavelength os Max Emission 408 nm
Radiation Length 42.5 cm

0 2.4: BC-404 Scintillator (BICRON)

223 0O0OOOOO

ooooooooooooooooD 3y mmOO0O0O0O0O0O0OOOO0OO0O0OOOOO00O0
oooobooooboboobooooooooooboooooooooboooboOoooDoDOg
coooboooooboocooooooooOoOoOoOoOboOobOoboboOoboboboOoobOOOoOoOooDooO
gooooooooooooboopbo230o00000

0210: 000000



20 020 TooOoooooOoo

224 PCR

21.30000000PCRO T0O0O00D0000000000000O000PCRO
00000 211000000000000000 lmmO ImmO0000000000
00000000000000000000000000000MO000 R&DODODO
000 [5)00000000

Ploton Conversion Rejecter

I W
i
]
", ;
.. .

1
PR
WLS-fiber """*-..
[BCF-52]

Plastic Schintullator
(BC 404 BC408)

0 2.11: PCROODO

021200KEKO00D0O0D0O0O0O0O00OODOOOO PCROODODOOO QvCOOO
00000000 3mmiI0O0O0O00000000000O0ODOOOOO TVCOOO
0000000000 QvCooooooooooddEficiency 00000000000
gobooobooboboboobooboboobuoooboobbobbuoobboooobg

“ " Efficiency = 83.4 + 0.2%

lhiconess & 3 cm sdgnad

0 2.12: PCRO QvVCOOO200000 KEKOOOOOOOOOOOO

025000000000000000003mmO00000000000DOOCOO0O
gobooooooooooobooo

obooooooog 3mm 6mm
gooooo 80 100
Npe OO OO0 threshold 83.4+0.20 | 99.2+£0.10
Npe OO OO0 threshold 98.2+0.20 | 99.3£0.10
TVCOOOOOoooooooo | 99.3+0.10 | 99.3£0.10

025 PCROODOOOOOOO



23 0000000000000000

23 ODO00O0OoOoobobooooooon

oogoooToOoOoOoOoUooooOooOoOooooooOoDOogoooooooooooon
oooooooooooooo ToOoOOoOoOooOOOOOOOOOOOOODOOOOOO
0000000000000 000000000U0O0oOKEKOODODODOOOOoooo
goTooooOoOooOoOoopDooDOo

231 00000

gobogoboobuoooboobooboobbooboobboobbobboobo
oo

e JOOOOOO
03000000000 0000000O0O0D0O0LOODo0ObO0ooooOoOUoOog
0000 RS2 00000000000000O00O00OOO0O
e JUIDOOOOOOOOOO
goooobodoooooooooobbooobooobobooobbooooobooao
goooo0ooooooooooooooooooo
e OO
goooobodoooooooooobbooobooobobooobbooooobooao
goooooooooboooooooboooooooooooobooooboooooo
gdoo0ooooooooooooboooooboobooooboooooooo
gooooooooooooooooooooobooooooooo
e JOOOODO
goooooooooboooooooboooooooooooobooooboooooo
Ooo0ooogd 21300000mm
—goooo
0000000000010 000o0o00 Y70 000oOooDOoOooOobooOoO
gooooboOooooooao [2][|]
— Q00O
goooobdooooooooboooobooooooao
—Q0oooo
0000000000 00oo0oO0ooo0obOoooooo 2000000
e JO00O0O0OOOOOOOOO
goooooooooboooooooboooooooooooobooooboooooo
Dooo _
V(t):%-t-m(—i) (2.1)

0000 Gain = 1.6-107°[Coulomb] - 107[PMT 000 0] = 1.6[ps]0 R=50[Q]0
000 75 = 2500[ps]
e DODDOO
0000000000000000000000000000000000000 3



020 TooOoooooOoo

gogoooon

- 0oooboooooobooogon
goooboooboobooobobooboboobooboboobogoo
0000000000000 o00ooUooooooooouUoooBC-404
BICRONOOOOODOOODOOOODODOO 0.mmsO000000O 1.8nsO000OO

Oooo )
t t
N_70_7—1_8{6Xp (—ﬁ)—exp (—1—8)} (2.2)
goo0ooooooooooooooooooo
— Q00O

gdboooobooboboobooboooboobod
- 0o0oo0ooooooooad
0000000 RS 0000000000 440psO 0000 ODOOODOO
gooooooooooooo
e OO OO
goooobboooooobboooobbboooobobbboooobobbooo
g ooobbobbbobbobbobooood
gooboobooooo
e [ threshold
000000 threshold 00O O0O0DO0DO0DOOOO0ODOOOOOOOODOlevent O
TVCooooooo
o IO DODDODODO
ooooooooooogTveooooooooooooooo



23 0000000000000000 23

0987 xexp(- XX QE ) LLABFHRELLD, | KBFHO/NAELER

i 987 ' Reflectance =

| n o # of reflect x
— A Aftenuanon length i) \
{ |
A » tl} {
| Pphaton none Inreshaid
1' ' = i ST -
B 3 13 s 15 i ! AW LT
i
|
| T1  Time for scintillator to emit photon TDC
RisaTima = 07 ns |, Decay Time = 18Bns l-
T2 = (Opbcal path ) fc
T3 - Transit Time and T.T Sin PMT Time Resolution
Transit Time =95ns T.T 5= 440 ps

0 2.13: Optical Monte Carlo Simulation O 0 0O



24

020 TooOoooooOoo

232 O00OOOOOOODOO

000000000000000000000000000000000000000
0000000000000000000000000000000000000 2cm0
08mO00000000000000000000000000 4cm00 4cm0000
0000000000000000000000000000000000000 400
00000 214M(1)00000000000000000000(2)0000(3)000
0000000(4)000000000000000000000

[T LE TR
I - FMIT Puiw
Jim= brm dem s dow
(1) mo reflection 2 rectangle 0 fish tmdl ) rectangde + fish tuil
I e ‘ ' " [ — ‘_ng
- . - . “ .
L jem] L [om] L [ems) R E—

L [cm)

0214:40000000000000

0000 21500000000000000000000D00000D0000O000O0O
O10emOO0000C0OO0ODOOODOOOODOOOOO

b {14

=
=

=
=]

(]
=

S AEET SHE %)
5

L [em]

0215 0000000000000OD

O0LO0O0OO insided outside 100000 2140000000000000000
0000000000000 dgddinside0 00000000 ooooogg
outside 1000000000 OOOOOO



23 0000000000000000

233 00O

02l60000000000000000000DOO00O0ODOOOOTOODOOOO
tooooboobooobobOobooobo0ooOoOooboOoOobOOobOOobOobOobOOoDbOoDO
goooooooooooooooooood 2emd 3em 0000000000000
ooo

% [
”:':"J T T T
=tem | #
S
a = ’ 1=3em
ot ! | .
111 oo TP (LG, i 0 AR
E ¥ | H -I
% y L
10 i . i i

X [em]

0216 00000000000O0ODOOOOOOOOODDO

021700000000000 (I.HOOUOODODODDOODODODODODUOODOD
gooooo0oo0d 2em0O000000DO0OD0DOOOO0OOO0O00 ~80ps0dOO
oooo

T e
ATn —

0o

[ps]

T1o
=
Lo |
g

0217 00o000000C0OO0OO0OO0O0O0OGCOOO



26

020 TooOoooooOoo

021800000000000000000O0X=30em000000D00OOOO0OO
gobooooooooogoobobobobooobooooooobobooboboobooo
OoooooooooooooooooooDooooo0 2em 000 ~60ps0O00
gobooooooooogobobobobooboooooooooboobooboboobooo
Oo00 ~8ps0O000O0O0DODODOCOOOODOO0OO0OODOODODOODODOOOOO
O2em 000000

200 , 4
5 13.5
150 [
—_— F '3 ﬂ
w | X
B Hr
Glm: " 12.5 E
= 1 2 &
O 5ol " . ™
{1.5
0 i i
0 1 2z 3 4
t [m]

0218 0000o0ooo0ooooooooboooooooobooboooooooobobooooo

24 O0O00O0O0OOOOO

ToooOOoOoooOoOoOooooOooooooooo

0000000 R5924(HAMAMATSU) 0000000000000 000 1mO0O
2em0 8em OO0 O00O0O0O0O0O0O0O0O0DOCOOOOOODODOOCOOOO0O0 10emOO0O
oooood



1 30

KEKOOOOO

O00O0DO0DODKEKOOOOOOOooOoOoOOOooooooooooooooooooo
oo00ooooooooooooooo0ooooo31omoooooTOOOOOOO
gooooo0o KEKOOOOOooooooooTioooooooooooooooo
gcoooooooooooos2om

31 0000000 0OoOooooooog

311 00O

2140 (17000)00000000TO000OOOOOO0OODOOOOOOOOO
000000000000 0000 300000003k[Gauss)]J00D00DO0OOOOOODO
0000000 FineMeshOODODODOODODOODOUOODODUOUOODOUOUOO gain0oQgd
goboooboboobobooboobbooboooboobboobboobo

312 0O0OOOOO

03.100 320000000000000000000000000*0000000
00 gan000000000D0000DO0 0~8k[Gauss] 000D ODODOOOOODODOO
goooooo, 3000 300000000000

goooooooooooogo-2000vo-1600Vv0oO 2000000000000 0OO
00000000000o00oOU0ooO0ooOoO0ooOOo*oDoooooooo-2000V0000
goooo 40000000000D0D0ODODO-1600VOOD200000000000000

B a8
L asar

031 PMTOOOOOOCODO

27

*OoOoOoooooooo
PLP-020 0 OHAMAMATSU
ooDO0O 18.5ps

000 415nm

gopDoOo-00000 £10ps
*OOOO NDOODO

0 0O 0O Kodak
-2000V — Optical Density=0.8
-1600V -0 00000



28 030 KEKOOOOO

400000000000000C00O000000000D0O0 2em0O0 ImO0OOO
oooooooooooooooooooo4000000000000000ODODO
oooogooooooooooooooooooooooooooogoo 10ooog
00000-1600V00 gain 000000000 DOO0O0O0DODOOOOOOO

*0 320000000000
oooooooooogoooon
coooo

032 PMTOOOOO0O0DODODOOOOOOOOOOOOOKEKDO

3.1.3 00O

0330000000000 ganOOO0O0OOOOOCOOCOOOODOODOODOO
gain0 1000000

000000000 gain00000000000O0O0O00O0O00000 gainOODOO
0000000000 0D03000001k[Gauss] 000000 gain000000OD0DODO

0340000000000000000005k[Gauss)]D 00000000 OOOO
cooooooooooo

PHENIX DOOOOODOOOD ~3k[Gauss],30 00 00000000O0O0DODOO
gain 00 0000000000000000000O0O0O0O0O0O0O0O0OOOO



3.1 00000000000000000

0 degres = ZDO0Y

1% degres - 2000Y

0 daegrea - 2000Y

3 degres - JODOY (saepial)
20 degres = ZI0O0DDY

0 degres - 1800V

13 dagrea =~ 1600V

I dagrea - 160DV

EO0W&kEB

B e S
o 30

b
-._____-I_._h-_-__
“in
ke

= HHETEHEE

{
¥
J L} ¥ )
| presesbesesetocanctonnentonancien o e g
i 1
[ i i : : ' Ib—ﬁ—
¥ 1 i L] ¥ ] i
I 1 1 ol | L Lisas

0 1 2 3 4 6 6 T 8
W% [k Gauss]

033 000000000

i T T S e
s TimePasnl uk 14 sk -
L TimsPepslid g o 80077, | Yl sy o
lL.om [ - FimsPsand e oy i il s
e
= “‘

BB RAE [ps]
3 t
;n

WS [k Gauss])

034: 00000000000



30 030 KEKOOOOO

32 DO0O0OoOooono

321 00O

O0ImO8m0O0 2emI000000C0CDOOOOOOOO0O0OOOOOOODOO
gooooooooooooobooobo ~80OD0OODOODOOODOODOODOO

322 O00OOOODO

KEKDODOOOOOOoooooooTigooopoooToooooooooooooo
2[GeV/c] 0 n~ 00000O0ODOODOOOOODOOODOODO

035000000000000000D0000O0O00OOOOO200VETOOOO
o000 DEFOOOUOOO 200000

Counter Name Type Number of PMT Scintillator Size [em?]
STR 1,2 Hamamatsu H3284 2x2x0.5
DEF 1 Hamamatsu R647 1x1x0.5
DEF 2 Hamamatsu R647 2x2x0.5
VETO Hamamatsu H2431 20 x 10 x 0.8
000000 2emO0000O
TO Hamamatsu R5924 100 x 8 x 2

031: 0000000 PMTOOOOOOOO

036000000000000000O0000O0O00OO

Trigger = STRINSTR2NDEF1NDEF2NVETO (3.1

oooooooooooToooOoOoOooOOOoUoOooOOOO0OODODDOODOODOO
oooopoooTooooooOoooooooOooooooooDooooooooog
oooooooooooooooooooboooooobobooooooDoOobooboooo
gom



3.2 00000000

31

« BIbTYT

2GeV/c pi- beam

] start]
] start2
T ] veto
] definel

[VETO ) ==

|

] define2

4« KEK , TIE—L 542, No. T479

035 KEKOOOOOOOOOOOOOoOoo

FAN /O — SATE gen.

 F '—I
[DEFT ) >z e——
DEF2 T I "?j _—
- - T
[STRIL = [ 2 E | =] TVC
:}J | -
| STRZR — =2 ]
[ STR2L 'S s; -i
ITI— } "'T_h' EATE gen. ﬂﬂli
i e
TOL 2 ——Z I QVE
/L‘ r—-:__?j'_.::
I —
splitter : [}- discriminator : T' coincidence : . delay : —r7r-

L

036: KEKOOOOOOOOOoOOO



32 030 KEKOOOOO

323 00O

e 000D
00 3.700000000000000000
TOODODO0O0000000000000000000000000000000
D000 Slewing 000000 DO
TDC = —% +b000ab0000 (3.2)

VADC

ooooooooooooo3f0oooooooooooooooTOOODO
gopbooooboogooo

021,52 = ‘7?91 + ‘7?92 (3.3)
‘7_291,T0' = ‘7?91 + U%o' (3.4)
U?‘?ZTO’ = 0%y + o7 (3.5)
* good
SIROOOSTRIOOOOO , B S1R+ S1L  S2R + S2L
0000 TDC O 00 Slewing Uﬁssz( T T 3 ) (3.6)
goooood S1IR+ S1L  TOR+ TOL
UZ‘I,TO’ = V( 5 - 5 ) (3.7)
S2R+ S2L TOR+TOL
UZ‘Z,TO’ = V( 5 - 5 ) (3.8)

037 000000



3.2 00000000

e JODDODODODO
00 3800000oOopoopoOoOoO0OoO0OU0OUUU0UUUUOooDoooooooO
ooopoooooooroovoooooOoooooooooooooooToOOO
000 threshold O-100mV OO0 OO

038 PMTOOOOODOODOOODOOD [ps]O

e JOODOOO
oo3900T00O0O0DODOOODOOOO0OOOODOOOOOOODOBOOOOOODOO
ooooooO0o00000000M@MO000000 2emO0 8&mOOO00OOODOOO
00000000 2em0 2em 0000000000000 ODOO0O M5k[Gauss] O
ooooooo0ooO000O00000000000000PHENIXOOODOODOO
3k[Gauss| 00000000 DOODO0ODOOOOOOODOO

o 1 2 3 4 5
W% [k Gauss]

039 00000000



34

030 KEKOOOOO

e JOOIDOOODOO
00 3100000000000000000000D000O00OClese0DOOO
0000000oo0ooo0oooooooogogd~60psec 00000000
gobboooboocooooooooooo

ﬂ'-—

Gm )

AT v ST

x [em]
ATL
ﬁpen B Hun&_CTrF ATR

Glnsa KEI‘; tﬂt AT

o] IO O .......

90 I &% 4
80 | A
od 0 L
80 & 9. . 4 ¥ 8

i fRAE [ ps]

50 g

0 20 40 60 80 100
X [cm]

e OO
OKEKOOOODOOOODDOOODDOO0oDODoOOooDoooooooooooooo
uobooobOp+pbOO0O0O0O0COO0O0OOOODOOOOOOOODOOO



40

b -obbdog

41 OO

TOOOODOOOOPHENIXOOOOOOOOOOODODOOOOODOOOOOOOODO
goooooooooooooo -oooOob0ooobboo 2000000000000
goooToOOOOOOOOODOOOOOOUOOOOOOOOOOOOO

ToooooooOOoOoOooOooooooOoOoOoOoooooooOOOooooooDoooo
oooooOoooooToooOoOOOOOD PHENXOOOOOOODOOOODOOO
ooooogo

411 0O0O0OO0O TOODODOODOOO

TOOODODODOOODOO0O00ODO000D000000000000 4100000
kg0 TOOOODODO 8000 42000000000000

041: 00000000000

042 ToOOOOODOOOOO
gooooooo

35



36

040 00 .-000000

goooo 430000poooooooooooooooogoogooooooooon
ooooooooooooooooo ToOOoOooODOOOoOooOoDOOoooOoDOOOOo

043: 000000000




41 00O

37

00oo0o0oD2000000000000000000D000000000O0DO0OO0O
PHENIXOOOOOOOOOODOODOOOOODOOOOOOOOOOOO ON-OFF O
goooooobooododmmigooooobbbooooobbboooog

000T0O0000000000000000000000000000000000
4.5,4.610

Bt S -
Lo 1 [
i | i il i1 r-n.-l X [
- | _.-'
: \ p— = ;
S o | L -
C '. L ' -
i j,‘_ﬂ&n- i
LA M
_.I'l'—i"-"-"wll J...n“—. T
A7 BE
i = HaE ‘PE——.T'

045 TOOOOOOOO

0 4.6:



38

040 00 .-000000

1[mm?2]=10"%[m?

[Pa]=[N-m~2]

*Dooo
gobooobooboobooog
gbobooooooogoog
gooooboogo

*Ooo
cobooogoooo

412 O00O0O0OOOOODOO

oopoooooToOoooOOoOooOOoOOOooOOOoOoOoooOOoTOoOOOOODOOODOO
ooooooooooooooooooooooooooooo TOOOOOOOOOO
gooooooooooooooooToooODOOOOODODOO0O0000OooOUuO e
BagOOOOOODOOODOODOOODOOOOOOOOOO HeBagOOOOOooooO
oooooooooooooooo

oboooooooo 3ooooon

1. 000000

2.00000000 HeBagOOQOOoQoO

3.00000000000 HeBagOOOooo

1.000000

oooo S

S = 1[mm] x 75[mm] x 2[0] = 1.5 x 10*[mm?] = 1.5 x 10 *[m?] (4.1)
0000000000000 150Kkgd TOOOO0O00000000000
0000 TOO

T=0000000000000000=150-9.8/1.5-10~* = 10[M Pd] (4.2)

oooo
0000000 0DO0O0oOooDOo*Y oo

Y = 200[M Pa] (4.3)
0000007T<YOOO0O0OO0O00 T0000000000000000
00000000000 e*0000000000000 E=200[GPal0000

0000 e0=000 TNOOO0D0 E0=5x 1072 (4.4)
0000LROO0D000 TOO00000005x10"2[mm]0000000

goooooToooOoOoOoOO0OoOoOOODOOOOOOOOOOODOODODOOOO
oooooooboooooooooobooooobbooon



41 00O 39

2.00000000 HeBagO OO O

He BagOO10O+10000000000000O0000O0O0DOOO0O0O0O0OODODO
o0 mOd0000000000O0O00O0O0OOOO

e J00DODOOOOO
TOODDDOOO He BagOOOOOODDODOOD 470000000000
p=254x10"4kgf/mm]|000000000 [ =1100fmm]000000000
0o0oO0000000oooo *
O He Bag
p=2.34*10"-4[kgf/mm] 0 0000000
0 000000

N NI

1=1100[mm]
047 00000000000

0ooDooooog FoOO

Fzg(l—Zm) (4.5)
0000000 Moo .
M:%(Z—x) (4.6)
goboodoooooooooooooooooon (x:l/Q)[l[l
12
Mmm:% (4.7)

00000000000 (diagram of shearing force;SFD)I O 4.800 O O O(diagram
of bending moment;BMD)0 0 4.900000

45
E 40
E
s
E ‘E.:m
= ]
£ £
-+ =, 20
w3 | 15
|.|.l
i 4 10
#l 5
I:l 1 1 1 1 1
] 200 400 o0 g0 1000
o rmm]

0 4.8: SFD 0 4.9: BMD



40 040 00 .-000000

e ODOODLDDOODLDOODO

h=17.5[mm]
vl

“b=80[mm]

0410: D0O0O0O0O0O0OOOOO

04100000000000000ylODO0O0O0DODO0OO0O0OO IDODOO

0Z00
bh? 44
2
Z = % =4.1 x 10*[mm?] (4.9)

e JOODODODOO
ooooobooo0oeODOO0O0D ZOOODODOOOOODOD MOOOOOOODO

gooo
M
_ M 4.10
o= (410)
go0oOo00o0oogouooooooooooo 4.7)[]|:|D|:|
Tmaz = T T R2 ‘

e OO
oooooooo0oooo0o0oooo0ooooooooooOO0 Eooooo

2
—El% =M (4.12)

r=Lt00%2=002=00w=0000

_ pr 3 2 2
w = 24EI(:B 202" +17) (4.13)
5plt
mazr — 1 = 4.14
v We=3 = 384ET (4.14)

o (10
0000000D0DDDDODODODOOOOOOOOOOOODDO E =
210[Jkgf/mm?|00 0000 6kgf/mm? 00000000000 000D0

000 (1=550[mm]) 00000 (411) 0000
00000000000000 S
000000000000 090 D0000= 55 =016

ooooooooleooobooo
ooooooooboo

goboooooooooooobboooooogoo
000(4.14)000000000000O0000 0.64mmDO0O0O0O



41 00O

41

3.00000000000 HeBagOOoooo

UOHeBagOOUOUUOOOOODODOODODOODODODODODODODODOOOoOoOooooooooOO
gobooboboobooooboo

000000000000 oooDOl=50,1050/mm 000000000 (4.5)00
0D01.62 x 10-3[kgf/mm?|00000000000000000000000000
BondStrength = 1.25[kg f /mm?]0

000Mo000=00000000000~0.130 000000DOOOODOOD
gobgoobooobobooog



42 040 00 .-000000

42 0OO0O0OOOOOOO

e J00IDDO0O TODODODDOOD KEKODODODDODOODODODODODODOODOOOooO
goooobobooooog
e JOODOOODO

0411: 000000000

041100000TO0000OOOOOO 3000000200 ToOOooOOOOO
gobbooobooooooooooboboOoobooooooooooDo

Trigger = TIRNTILNT3RNT3L (4.15)

TiR
| TiL
T2R
T2L
T3R ) L{GATE gen | gate
____ = —'F,_ - e
TaL S — =
t_,:_[ = QVC
[
=
splitter [:‘ dimlmlnatur:r__* c-:-n:r-:lcnr.e'. deday | —Fz=

04.12: 000000



42 000000000

e J00 320000000DDOOOTOODOOOOODUDDODOODODOODDOD
4.130000KEKOOOOOOO0O0D0OO0O0O~60psDO000O00O0O0O0OO0O

Fasai - L
M - DR
Crantset - FAHA 0 FAAS
Wem - DR BT

Farprm.

- 240 & AT e

=

=\ o | on=T7615080ps]
s — | Ty3= 499112 ps]
= &, = 58.7+ 1.0[ ps]

H W i % @ & & @ & W

0413 0000



44

040 00 .-000000

43 0O0OOODOO

TOOODDOODODODDOODDO0O0000 3am 0000000000000 O0O0O0O
000000000 0o0DooOo000000O00000D0O0U0O0D0OPHENIXODO
00oDo000ooooooD 4140000000000000D00000O000O0
20010 11O00DPHENIXODOODODOODODOODDODOOODOOOOOODOO

0414: 0000000O0D0 ToOOOODO

0 4.15: PHENIXOOOOOOOOO TooooOOO



45

] 5[

p+p U L

20010 12000 20020 100000000 -00000O0O0COOOCCOOOOO
2001010 31000000C00C0OOOODOOOODOOODODOO

5.1 ODOOOon

osl00Toofgooooooooooooooooooogoooooogoon
oooooooooooooooooooo ToobOoOoOoooOOOOUOOOOOOOOO
oooooooooog

0s5200To0000O000O0O00O0O0 HITOOOOOOOOOOOOOOOOOO
ImO0000O0000O0MO0O0DOO0O000O0O000000OC0C00000 -6mm 00
0000000ooooooo (19000

-L I*'ill'h"rlF' - :I - :,:

.HJ’I ”rﬂ"‘qu"i'.l-v..ﬁ_“u_.ﬂ . fires e im

1 e

! Eﬂﬂl:g'jl' Lu:;ss [I'k-:'.la‘uf] | Z position [cm]

Os5300To00ooooooo HITOODODOODODOOOOOOooooooooo
oooo TooooooooooooOo+000O0O0000OooooooOooObDOoOoog
ooo0o0oooooooooTooOooOoOoOOOOO0OO0OOoOoOoOOODOOOOOOO
00000000000 ~300ps]D0000ODO0ODOO TOODODDODDOODODOODOD
BBCUOOOOOOOODOOUOOUODOOUOOODOOOOOOODDODOUOOOUOODOO
ooooooobobooooooooooooboooooDoog

TOOOOOOO p+p000000O0O0O0DODOODODODODOOODOOO



46

O50 p+pO0O

. il I e i ibiai

E §F &4 ®B ® W W M W W N

TOTZC - TOBBC [ns)

053 00000 ToooOOODOOOOOOODO

5.2 callibration 0 O O
TOOOOOODOODOO Calibration Parameter 0000 900000

. Time Conversion Parameter

. Charge Conversion Parameter
. QVC pedstal

. Light Verosity in Scintillator

. Z Position Offset

. Enegy Loss Conversion Factor
. Time Offset

. Slewing Parameter

. Global Time Offset

© 00 ~J O Ut = W N o=

e ——

F: -*r‘-%ﬂm !1‘/
1 - 3 BR 1 G2

- . M M s - - o e e e

Delay [ ﬁ::mnr ~ 1.653n% | Charge [ ~0.1pc]

0 5.4: Delay 0 TVC 0000 0 5.5 charge D QVC O OO0
0 Time Conversion Parameter] O Charge Conversion Parameter[]

1~30000 Timing O Charge 00 0000000000000 OOOODOOODOO
00000 Calibration0 000 O0O0OTOODOOOOODOOODODOOODOOOOOOO
O0Common Start 00000 54000000000000000000 DelayOO
Oooo TvCoOOooOoooooooooooooooooTvCloooooooooo



53 ToOoOoOO 47

010000000 s500000000000000D0ODOOO00OODOOO QVCOOOO
O00oU0ooooOooooooooQvllooooooooooo200o0o0o0o0ooo
O000O0O0pedstalD 3000000

4~7000000000 Calibration 0000000000000 5.1~5.3

400000000000 0000O0DOOTOOOOOOD HtODDODOOOOO 5.20
00000000000 5.20000000000000000D0000O0D0O00DODOO
gboooooooooog

000000o000o00oo0ooooDo0oooooooDooooooooToOOOO
000 HtO0OOOOOOOooooooooo 50000

60 QVCl1DO0DO0UO0O0D0DO0DDO0O0 MeV]OODOOODOODODOODODOODOO
goboooooooobooboboboooooogon

rO0o0000oo0ooooo0ooooooooo

9000000000000 ooooooogoooooDoooooooooDoD
oooooood

53 ToOOOO

O0000OBBCOOOOOOOOOOOOODOOOOO EvetD TOOOOOOO
00000000000000000000000000

BeamCross] 0 000000000000 O000000000000 OEvent O ~192k
00 Run00000000O00O
O00O0O0OBBCOOOOOOOOOOO 33Event 0 TOOOOOOODOOOOOO
0000 15Event D0 OOBBCOD TOOOODOOOOOO0O0000O0O0O0O 9Event
0000
00000T00O0000000000000BBCOOOOOOOOO 6Event 000
000oooo
00000000000000000000000000000000 2.200 BBC
00 p+p00000 40~500000000000000000000 p+p0O00O
~T0Event 00000000

—  ppcellision ~T70

BBC trigger : TO trigger
33 15
24 a B

0 5.6: BBC Trigger O TO Trigger



48

O50 p+pO0O

54 000U

PHENIXOOODOOOTOOOOODOODOOOOOOODOOOOOoOoOoooDOooODO
O0oo000o0o0oo0oo0oUOo0oOooooooooooooo TOFO TooOO
0000oo0o0o00ooO0o0ooo00oooO0o0oooO00BDoOs700OO

rO0000KOOOOOOOOoOoooooooToOOoooooDOooOOooooooooo

coooooo

PHENIX TOF & TO Counter
p+p\]sm-2ﬂDA GeV

n‘l‘

K’

"

1/Momentum [(GeV/c) ']
F
|

-nl.'l 5 10 '1'! EIIIEIS HJ:ISIII-ISE.'I
Time of Flight (TOF-TZR) [ns]

057 p+p0000000000



[1 60

HRERN

goobobooob -ocbogobbuooobobbo0 -ouoboooobooooobo
0000000 Time Zero Counter0 00 TZCOOOODOOO -000000O0O
TZCOOODOODOODOODOOD ImOD0OO000000000O000O0O0ODOO0O0OO00O
gobooboboboboobbooobooboooboobboboboobboooboo
agod

gy yggggg o
Joodooooobooobooobboboboooboobboooboooboog
10cm 0000000000 ImO0O 2em 000000000000 0O0O0ODOO~60ps
00000000000 0DO0DO0O000o20010 6003

|:||:|DTZCDDDDDDI:IDDI:I3k[Gauss]DDDDDDDDDDDDDDDDDDD
O Fine Mesh 0000000 OR5924HAMAMATSUCO OO OOOOOOOOOOOO
god k[Gauss]DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD
oo UUU o
00000003k[Gauss| 00D 00DO00DO0OODODOO0OODOOOODOUODODDOOD
Jooooooooooboooo

0000000000000 U0o00Do00DU0KEK-TIDOODDODODOOooOooooo
Oo0ooooooo20010 T—479D:|2[Gev/c]|:| m-000o0o0o0oooooooog
Oo0dooooooooooooooooooooooooooooTZCOoOoooog
DDDDDDDDDDD3k[Gauss]DDDDDDDDDDDDDDDDD ~60ps 0 00O
00o0o0o0o0o0ooo20010 1200

20010 80000 TZCOOOODODOOOUOUUUUUOOOODOOODOOOPHENIXO
oo booobooooog
0020010 11000 PHENIXODOODOODOOO -000000000O000O 8000
agod

000020010 12000 200000000000 0000O0O0OOO0TZCOOO
do000oo0oO0O0oO0oO0O0O0O0O0oO0O0oO0O0O0O0O0O0OO0OC0OOOOOOOOOTOFOOOO
Joodooooooooooobobbobbbbobbooobooood

000000000000 Calibration Parameter 0 00 0000000000000
googd

49






HREENEN

[1] Suppression of Hadrons with Transverse Momentum in Central Au + Au Col-
lisions at /snyn = 130GeV
Phy. Rev. Lett. 88 , 022301 . 14/Jan/2002
PHENIX Collaboration

[2] Study of timing degradation and light attenuation in long plastic scintillation
rods for time-of-flight counters in relativistic heavy ion experiments
Nuclear Instruments and Methods in Physics Research A 849 (1994) 447-453
Mizuki Kurata et al.

[3] The European Physical Journal C Volume 15 Numberl-4 2000 pp1-878

4] 0000000000 0DOO0OO0UOOOO0ODOODOODODODOOODODOO
oo oooboobooboobn
199 0000000000000000
goog

[5] OPHENIXOOOOOOOODODODODODODODODODOOODOOODOOO Photon
Conversion Rejector 0 0 0O
2000000000000 00000000
goog

[6(] DODO0ODO FORTRANODODOOUOODOODOUOOODOODODOOOODO

[7] AutoCAD 0000000000000 000O0O00O0OO0O0

[8] First Results from RHIC-PHENIX.
Pramana 57 , 355-369 , 2001
PHENIX Cllaboration

[9] Overview of PHENIX Results from the first RHIC Run.
Nucl. Phys. A698 , 39-53 , 2002
PHENIX Collaboration

[10] Measurement of the midrapidity tranverse energy distribution from ,/syy =
130GeV Au+Au Collisions at RHIC.
Phys. Rev. Lett. 87 , 052301 , 2001
PHENIX Collaboration
[11] Centrality dependence of charged particle multiplicity in Au+Au Collisions at

VENN=130GeV
Phys.Rev.Lett.86 , 3500-3505 ,2001
PHENIX Collaboration

51






BN

gobooooooooobooobooooOooOoboOoobObo0oobooooooOoOoOooDn
ooooooobooooooooooooobobooooooo
00000000 O0KEKOOOOOOODOOoOoooooooooooooooooo
oooooooooooooooo
O0O00OOBNLOOOOHVOOOOODODOOODOOOOODOODOOOODODOOOOOOO
tcooooooooooOoobooboooOoOobOobOObOOobOOOOobObOboOoOoOoboOoonoo
ooooooooooooo ToogoooooooooooooooooooOogog
ooooogoo
gooooOoBNLOOOOODOOODOOODOOODOODOODOODOODOODOO
cooooooboobooobooooboooooo
gooopooooooooDoDOoOoO0oOoO0oOoOoOooooooooooogrooooDon
O OFFLINEOOOOOOOODOOO0OODOO0OO0O0DoOO0oooO
O00000oooooooToOODO0O0O0O0 calibration 000000000 O0O0O0OOO
ooooogoooo
O00O0O0D0OUOOGEANTOOUOOOOODOUOOOOKEKDOOOOOOOmMoO
ooooooooooooooooobooooboboooooooooog
O000O0O0OO0OC0OKEKOOOOOOOOOOUOOOO bAQUUOOoOoooooo
coobooooooooooooooboOooooo
O0000000p+p 0000 ONLINE MONITORINGOOODOOOOODDOOOO
coooboooooboooobooooOooOoOoOoOoOboOobOobooOobobooboOoobOOOoOoOoDOoO
oooo
ooooooooToooOooOoUoOOoOoUOoUoOoooUOoooPCROOOOOO
oooooooooo
0o0ooooooooo0goooooooo0U00U0oKEKODOOODOoOooooo
coooocooboooooo
gooooooooooobboooooooooooobobooooooooooooDo
cooooooboocooboogono

53
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gkt skskosk sk ok stk skestoskosk ok skokokskokskoskokostokskostok sokoskokok skokokokoskokok ol skokoskostok stolokoskokokokoskokok ok

2:%

3:* Optical Monte Carlo Simulation

4:%

5:* by Hiroshi Tsuruoka MAY / 22 / 2000

6:*

7ok sk ok o ek sk sk o sk ok sl ek sk sk ok sk sk sk oo o
8:

9: IMPLICIT NONE

10:

11: INTEGER NWPAWC,ISTAT,ICYCLE

12: REAL PAW,FSPACE(200)

13: PARAMETER (NWPAWC=1000000)

14: COMMON /PAWC/PAW(NWPAWC)

15:

16: INTEGER I,L,N,Osci,Olg,Msci,Mlg,REFsci,REFlg
17: REAL VEC(4)

18:

19: REAL OAx,0Ay,0Az

20: REAL APx,APy,APz

21:

22: REAL TXsci,TYsci,TZsci, LENGTHsci

23: REAL TXlg,TYlg, TZlg, LENGTHIg

24:

25: REAL TIMEscilg, TIMEpmt

26: REAL probability

27:

28: REAL INTENSITY (3),SUM(2)

29: REAL theta,phi

30:

31: INTEGER JTZlg,J,Npe,Inpel,Inpe2

32: REAL TransitTime,RVEC(1),Tnpe,T_V(1:10000,1:2)
33: REAL Tlight,Vout,threshold, TDC,nontlight

34:

35: CHARACTER*8 tags1(2)/’Npe’, TDC’/

36: CHARACTER*8 tags2(1)/’TLIGHT’/

37: CHARACTER*8 tags3(1)/’sum’/

38: CHARACTER*8 tags4(1)/’non’/

39: real event(2)

40: dimension event(2)

41:* EQUIVALENCE (event(1),TZlg),(event(2),probability)
42:

43: REAL RANDOM1

44: EXTERNAL RANSIN

45:

46: REAL RANDOM2

47: EXTERNAL RISE2DECAY

48:

49: COMMON /POINT/OAx,0Ay,0Az,APx,APy,APz,L, theta,phi

55
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50
51

52:

53

54:
55:
56:
57:
58:
59:
60:
61:
62:
63:
64:
65:

66

: COMMON /TSCINTI/TXsci, TYsci, TZsci,REFsci, LENGTHsci,Msci
: COMMON /TLG/TXlg,TYlg,TZlg,REFlg, LENGTHIg,MIg

*

: CALL HLIMIT(NWPAWC)

*

CALL HROPEN(1, MEMORY", tdc50_t2.HBOOK’,'N*,1024,ISTAT)
IF (ISTAT.NE.0) THEN

WRITE(6,*)’FAIL TO OPEN HBOOK FILE ... SORRY"

GOTO 9999

ENDIF

CALL HCDIR(’//MEMORY”,”)

call hbookn(100,’npe-tdc’,2,”//MEMORY’,1000,tags1)

CALL HBOOKN(110,LIGHT OUTPUT",1,”//MEMORY’,1000,TAGS2)
CALL HBOOKN(120,’sum Tt’,1,’//MEMORY?,1000,TAGS3)

CALL HBOOKN(130,’none Tlight’,1,’//MEMORY”,1000, TAGS4)

* do 7000 JTZlg=10,250,10

67:

68

: DO 8000 INPE2=1,400

69:

70:
71:
72:
73:

DO 5500 Inpel=1,10000
T_V(Inpel,l)=real(Inpel*10.0)
T_V(Inpel,2)=0.0

5500 CONTINUE

74:
75:

76
7
78
79
80

81:

82
83
84
85

86:

87

88:
89:
90:
91:
92:
93:
94:
95:
96:
97:
98:
99:

: N= 2.0 * 20000.0*0.5 0 0000000000000
#* x[cm)]

: TXsci=2.0

: TYsci=8.0

: TZsci=-50.0

%

: TXI1g=TXsci/2.0

: TYlg=4.0

: TZ1g=10.0

¥ TZlg=REAL(JTZlg)/10.0
*

* do 7100 J=1,10

%

SUM(1)=0.0
SUM(2)=0.0
INTENSITY(1)=0.0
INTENSITY(2)=0.0
INTENSITY(3)=0.0

Msci=0

Mlg=0
probability=0.0
Osci=0

Olg=0

100: Npe=0.0

10

1:*

102: do 10 I=1,N

103: CALL RANMAR(VEC,4)
104*000000000000000000
105: OAx=(2.0¥VEC(1)+1.0)*TXsci/4.0
106: OAy=(2.0*VEC(2)+1.0)*TYsci/4.0

10

7: OAz=TZsci

108:*
109: CALL FUNLXP(RANSIN,FSPACE,0.0,90.0)
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110: CALL FUNLUX(FSPACE,RANDOMT,1)
111*000000000000000000000
112: APx=SIN(RANDOM1*3.141592/180.0)*COS(VEC(3)*6.2831853)
113: APy=SIN(RANDOMI*3.141592/180.0)*SIN(VEC(3)*6.2831853)

114

115:

*

116:
117:
118:
119:
120:
121:

122:

123:
124:
125:
126:
127:
128:
129:
130:
131:
132:
133:
134:
135:
136:
137:
138:
139:
140:
141:
142:
143:
144:
145:
146:
147:
148:
149:
150:
151:
152:
153:
154:
155:
156:
157:
158:* write(6,*)intensity(1)
159*************************************************
160:
161: OAx=0Ax-TXIg
162:*center* OAy=0Ay
163:* OAy=0Ay+2.0
164:

166:* Light Guide

1§ 7 H skt sk ot etk ok ek ks ok sk st b ok ok ok
168:
169: L=9

APz=COS(RANDOMI1%3.141592/180.0)

TIMEscilg=0.0
REFsci=0
LENGTHsci=0.0
REFIg=0
LENGTHIg=0.0
L=9

1000 IF(REFsci.GE.10000) GOTO 10
CALL LGFACE
IF(L.EQ.99) GOTO 90

IF(L.EQ.9) GOTO 200
100 CALL ENDsci
IF(L.EQ.99) GOTO 10

IF(L.EQ.1) GOTO 300
200 CALL FACEO0L
IF(L.EQ.99) GOTO 10
IF(L.EQ.1) GOTO 1000

IF(L.EQ.2) GOTO 400
300 CALL FACE02
IF(L.EQ.99) GOTO 10
IF(L.EQ.2) GOTO 1000

IF(L.EQ.3) GOTO 500
400 CALL FACE03
IF(L.EQ.99) GOTO 10
IF(L.EQ.3) GOTO 1000

IF(L.EQ.4) GOTO 900
500 CALL FACE04
IF(L.EQ.99) GOTO 10
IF(L.EQ.4) GOTO 1000

900 Osci=0sci+1
GOTO 10

90 INTENSITY (1)=(0.987**REAL(REFsci))*EXP(-LENGTHsci/140.0)

SUM(1)=SUM(1)+INTENSITY (1)
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170:

171: 2000 IF(REFIg.GE.1000) GOTO 10

172: CALL PMTFACE

173: IF(L.EQ.9999) GOTO 2090

174:

175: IF(L.EQ.9) GOTO 2200

176: 2100 CALL ENDIlg

177: IF(L.EQ.9999) GOTO 10

178:

179: IF(L.EQ.11) GOTO 2300

180: 2200 CALL FACEL1l1

181: IF(L.EQ.9999) GOTO 10

182: IF(L.EQ.11) GOTO 2000

183:

184: IF(L.EQ.12) GOTO 2400

185: 2300 CALL FACE12

186: IF(L.EQ.9999) GOTO 10

187: IF(L.EQ.12) GOTO 2000

188:

189: IF(L.EQ.13) GOTO 2500

190: 2400 CALL FACE13

191: IF(L.EQ.9999) GOTO 10

192: IF(L.EQ.13) GOTO 2000

193:

194: IF(L.EQ.14) GOTO 2900

195: 2500 CALL FACE14

196: IF(L.EQ.9999) GOTO 10

197: IF(L.EQ.14) GOTO 2000

198:

199:

200: 2900 Olg=0Olg+1

201: GOTO 10

202:

203:* 2090 INTENSITY (3)=(0.987**REAL(REFIg))
204:

205: 2090 INTENSITY (2)=(0.987**REAL(REFsci+REFIg))*EXP(-LENGTHsci/140.0)
206:

207: SUM(2)=SUM(2)+INTENSITY (2)

208:

209:* CALL HF1(200,theta,INTENSITY (2))

210:* CALL HFN (20,theta)

211:

212:* write(6,*)intensity(2)

213:

214: TR(INTENSITY(2)*0.20 .GE. VEC(4)) THEN
215: Npe=Npe+1

2162******

217: CALL FUNLXP(RISE2DECAY,FSPACE,0.,30.)
218: CALL FUNLUX(FSPACE,RANDOM?2,1)
219: Tlight=RANDOM2*1000.0

220: CALL HCDIR(’//MEMORY”,”)

221:

222: TIMEscilg=(LENGTHsci*158.0+ LENGTHIg*149.0)/2.997
223: CALL RNORML(RVEC,1)

224: TIMEpmt=440.0*RVEC(1)/2.35482+9500
225: TransitTime=Tlight+TIMEscilg+TIMEpmt-2500
226: call hfn(110,Tlight)

227: call hfn(120,TransitTime)

228: nontlight=TIMEscilg+TIMEpmt-2500

229: call hfn(130,nontlight)



230:
231:
232:
233: do 5000 Inpel=1,10000,1

234: Tnpe=REAL(Inpel)*10.0-Transit Time

235: Vout=Tnpe*exp(-Tnpe/2500)*1600*50/(2500%*2)

236: IF (Vout.GE.0.0) THEN

237: T_V(Inpel,2)=T_V(Inpel,2)+Vout

238: ENDIF

239: 5000 continue

240:*****

241: ELSE

242: ENDIF

243:

244: 10 CONTINUE

Q45 kK

246: threshold=500.0

247: DO 5600 Inpel=1,10000

248: TF(T_V(Inpel,2).GE.threshold)THEN

249: TDC=T_V(Inpel,1)

250: goto 5800

251: ENDIF

252: 5600 CONTINUE

253:

254: 5800 WRITE(6,%) Tlight, TDC

255:*****
256*****************************************************
257:

258:* probability=100.0*REAL(Msci)/(REAL(N)-REAL(O))
259:* WRITE(6,*) TZsci,probability,Msci,O

260:

261:* probability=sum(2)/sum(1)

262:* write(6,*) Npe

263:* call hfn(10,TDC)

264:* do 5900 Inpel=1,10000

265:

266: event(1)=Npe

267: event(2)=TDC

268: call HFN(100,event)

269:
270:
271:
272:

* 5900 continue

* event(2)=0.0

* DO 5950 Inpel=1,4000

273:* event(1)=T_V(Inpel,1)

274:* event(2)=T_V(Inpel,2)+event(2)
275:* call HFN(110,event)

276:*

277:*

278:*

279:%

280:*

281:

282: 8000 CONTINUE

283:

284: CALL HROUT(0,ICYCLE,”)
285: CALL HREND("MEMORY”)
286:*

287: 9999 STOP

288: END

289:

5950 continue

7100 continue

7000 CONTINUE
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290:*
291:*
292:%*
293:*
294:
295:
296:
297:
298:
299:
300:
301:
302:
303:
304:
305:
306:
307:
308:
309:
310:
311:
312:
313:
314:
315:
316:
317:
318:
319:
320:
321:
322:
323:
324:
325:
326:
327:
328:
329:
330:
331:
332:
333:
334:
335:
336:
337:
338:*
339:%*
340:*
341:*
342:*
343:*
344:
345:*
346:*
347:*
348:*
349:*

steske sk sk sk stk sk ok sk sk sk stk skosk stk skoskoskokoskoskok skekokoskokoskok skokokoskokokokokok

scintillator
sk sk sk sk stk sk sk sk sk sk sk sk sk stk siesk skeosk sk sk sk sk stk sk sk sk sk sieoskoskok sk skosk sk otk ok kosk

Light-guide face *¥¥¥¥kxx

SUBROUTINE LGFACE
IMPLICIT NONE
INTEGER L,Msci,REFsci
REAL OAx,0Ay,OAz
REAL APx,APy,APz
REAL TXsci,TYsci,TZsci
REAL A,B,C,D,t

REAL OPx,0Py,OPz

REAL LENGTHsci
REAL r,rxy,theta,phi,tan0

COMMON /POINT/OAx,0Ay,0Az,APx,APy,APz,L,theta,phi
COMMON /TSCINTI/TXsci,TYsci,TZsci,REFsci, LENGTHsci,Msci

A=0.0
B=0.0
C=1.0
D=0.0

t=-((A*OAx+B*OAy+C*OAz+D)/(A*APx+B*APy+C*APz))

OPx=0Ax+t*APx
OPy=0Ay+t*APy
OPz=0Az+t*APz

IF((OPx.GE.0.0).AND.(OPx.LE.TXsci).AND.
&(OPy.GE.0.0).AND.(OPy.LE.TYsci)) THEN

LENGTHsci=LENGTHsci+SQRT((OPx-OAx)**2
&+(OPy-OAy)**2+4(0OPz-OAz)**2)

Msci=Msci+1
L=99

APx=0Px-OAx
APy=0Py-OAy
APz=0Pz-OAz

OAx=0Px
OAy=OPy
OAz=0Pz

ook KRRk KK K
write(6,%)OAz,0Ax,0Ay
write(6,*) OAz,0Ax
write(6,*) OAz,0OAy

write(6,*) *fin’, REFsci
Sk A R

r=SQRT(APx**24+APy**2+APz**2)
rxy=SQRT(APx**24+APy**2)
theta=ACOS(APz/r)*180.0/3.141592
tan0=TAN((90.0-theta)*3.141592,/180.0)



350:* IF((APx.GE.0.0).AND.(APy.GE.0.0)) THEN
351:* phi=ACOS(APx/rxy)*180.0/3.141592

352:* ELSE IF((APx.LT.0.0).AND.(APy.GE.0.0)) THEN
353:* phi=ACOS(APx/rxy)*180.0/3.141592

354:* ELSE IF((APx.LT.0.0).AND.(APy.LT.0.0)) THEN
355:* phi=360.0-(ACOS(APx/rxy)*180.0/3.141592)
356:* ELSE

357:* phi=360.0-(ACOS(APx/rxy)*180.0/3.141592)
358:* ENDIF
359:

360:* WRITE(6,*) OAx,0Ay,APx,APy,APz

361:* WRITE(6,*) OAx,0Ay,REFsci

362:* WRITE(6,*) TIMEsci,REFsci,tan0

363:* WRITE(6,*) theta

364:* WRITE(6,*) theta,phi,REFsci

365:

366: ENDIF

367:

368: RETURN

369: END

370:

371k END END ENTD fkskk koot ook koo

372:

373: SUBROUTINE ENDsci

374: IMPLICIT NONE

375: INTEGER L,REFsci,Msci

376: REAL OAx,0Ay,0Az

377: REAL APx,APy,APz

378: REAL TXsci,TYsci,TZsci

379: REAL A,B,C,D,t

380: REAL OPx,0Py,OPz

381: REAL LENGTHsci,theta,phi

382:

383: COMMON /POINT/OAx,0Ay,0Az,APx,APy,APz,L,theta,phi
384: COMMON /TSCINTI/TXsci,TYsci,TZsci,REFsci, LENGTHsci,Msci
385:

386: A=0.0

387: B=0.0

388: C=1.0

389: D=-TZsci

390:

391: t=-((A*OAx+B*OAy+C*OAz+D)/(A*APx+B*APy+C*APz))
392:

393: OPx=0Ax+t*APx

394: OPy=0Ay+t*APy

395: OPz=0Az+t*APz

396:

397: IF((OPx.GE.0.0).AND.(OPx.LE. TXsci).AND.

398: &(OPy.GE.0.0).AND.(OPy.LE.TYsci)) THEN

399:% write(6,*) FHHHkxE RERsci,],0Ax,0Ay,0Az

400: L=99

401:

L2 F A sk ok

403:* write(6,%)OAz,0Ax,0Ay

404:* write(6,*) OAz,0Ax

405:* write(6,*) OAz,0Ay

406 write(6,*) MFFRERRIOOOOOOO RETgcl

Q7R sk ok

408:

409: ENDIF

)

)
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410:

411: RETURN

412: END

413:

414:

415:* 01 01 01 01 01 01 01 01 01 01 01

416:

417: SUBROUTINE FACEO1

418: IMPLICIT NONE

419: INTEGER L,REFsci,Msci

420: REAL OAx,0Ay,0Az

421: REAL APx,APy,APz

422: REAL TXsci, TYsci,TZsci

423: REAL A,B,C,D,t

424: REAL OPx,0Py,OPz

425: REAL ANGLE,P

426: REAL LENGTHsci,theta,phi

427: REAL APC

428:

429: COMMON /POINT/OAx,0Ay,0Az,APx,APy,APz,L theta,phi
430: COMMON /TSCINTI/TXsci, TYsci,TZsci,REFsci, LENGTHsci,Msci
431:

432: A=1.0

433: B=0.0

434: C=0.0

435: D=-TXsci

436:

437: t=-((A*OAx+B*OAy+C*OAz+D)/(A*APx+B*APy+C*APz))
438:

439: OPx=0OAx-+t*APx

440: OPy=0Ay+t*APy

441: OPz=0Az+t*APz

442:

443: TF((OPy.GE.0.0).AND.(OPy.LE.TYsci). AND.
444: &(OPz.GE.TZsci).AND.(OPz.LE.0.0)) THEN
445:

446: P=(A*APx+B*APy+C*APz)/((SQRT(APx**2-+ APy**24 AP7*¥2))*
447: &(SQRT(A**24B**24C**2)))

448: ANGLE=ACOS(P)*180.0/3.141592

449:

450: IF((ANGLE.GE.90.0).AND.(ANGLE.LE.180.0)) ANGLE=180.0-ANGLE
451:

452: IF(ANGLE.LT.39.265247) THEN

453: L=99

454:

A5 5k ks sk ok

456:* write(6,¥)OAz,0Ax,0Ay

457:* write(6,*) OAz,0Ax

458:* write(6,*) OAz,0Ay

459 write(6,*) MFRERRROOO00 REFgci
A60:F sk sk ok

461:

462: ELSE

463: REFsci=REFsci+1

464: LENGTHsci=LENGTHsci+SQRT((OPx-OAx)**2
465: &+(OPy-OAy)**2+(0OPz-OAz)**2)

466:

467: APx=0Px-OAx

468: APy=0Py-OAy

469: APz=0Pz-0OAz



470: APC=-2.0%(A*APx+B*APy+C*APz)/(A**24 B**24(**2)
471: APx=APx+APC*A

472: APy=APy+APC*B

473: APz=APz+APC*C

474:

475: OAx=0Px

476: OAy=0Py

477: OAz=0Pz

478:

479: L=1

480:

A8 ] R ok ok

482:* write(6,*)OAz,0Ax,0Ay

483:* write(6,*) OAz,0Ax

484:* write(6,*) OAz,0Ay

A8 koK sk ok

486:

487: ENDIF

488:

489: ENDIF

490:

491: RETURN

492: END

493:

494:* 02 02 02 02 02 02 02 02 02 02 02

495:

496: SUBROUTINE FACE02

497: IMPLICIT NONE

498: INTEGER L,REFsci,Msci

499: REAL OAx,0Ay,0Az

500: REAL APx,APy,APz

501: REAL TXsci,TYsci,TZsci

502: REAL A,B,C,D,t

503: REAL OPx,0Py,0Pz

504: REAL ANGLE,P

505: REAL LENGTHsci,theta,phi

506: REAL APC

507:

508: COMMON /POINT/OAx,0Ay,0Az,APx,APy,APz,L,theta,phi
509: COMMON /TSCINTI/TXsci, TYsci,TZsci,REFsci, LENGTHsci,Msci
510:

511: A=0.0

512: B=1.0

513: C=0.0

514: D=-TYsci

515:

516: t=-((A*OAx+B*OAy+C*OAz+D)/(A*APx+B*APy+C*APz))
517:

518: OPx=0Ax+t*APx

519: OPy=0Ay+t*APy

520: OPz=0Az+t*APz

521:

522: IF((OPx.GE.0.0).AND.(OPx.LE.TXsci).AND.

523: &(OPz.GE.TZsci).AND.(OPzLE.0.0)) THEN

524:

525: P=(A*APx+B*APy+C*APz)/((SQRT(APx**2+ APy**2 { APz**2))*
526: &(SQRT(A**2+B**24C**2)))

527: ANGLE=ACOS(P)*180.0/3.141592

528:

529: IF((ANGLE.GE.90.0).AND.(ANGLE.LE.180.0)) ANGLE=180.0-ANGLE
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530:

531
532

: IF(ANGLE.LT.39.265247) THEN
: L=99

533:

534

535:
536:
537:

538
539

kR ok ok o
* write(6,*)OAz,0Ax,0Ay
* write(6,*) OAz,0Ax
* write(6,*) OAz,0Ay

:* write(ﬁ,*) ’***************’,REFSCi
W kokokokokokoskokoskokoskoksk

540:

541:
542:
543:
544:

ELSE

REFsci=REFsci+1
LENGTHsci=LENGTHsci-+SQRT((OPx-OAx)**2
&+(OPy-OAy)**2+4(0OPz-OAz)**2)

545:

546:
547:
548:
549:
550:
551:
552:

APx=0Px-OAx

APy=0Py-OAy

APz=0Pz-OAz
APC=-2.0%(A*APx+B*APy+C*APz)/(A**24B**2+C**2)
APx=APx+APC*A

APy=APy+APC*B

APz=APz+APC*C

553:

554:
555:
556:

OAx=0Px
OAy=OPy
OAz=0Pz

557:

558:

L=2

559:

560

561:
562:
563:

564

kR ok ok o
* write(6,*)OAz,0Ax,0Ay
* write(6,*) OAz,0Ax
* write(6,*) OAz,0Ay

W 3kttt sk sk skt skok sk kosk

565:

566

: ENDIF

567:

568

: ENDIF

569:

570

571:

: RETURN
END

572:
573:

574

%03 03 03 03 03 03 03 03 03 03 03 03

575:

576:
577:
578:
579:
580:
581:
582:
583:
584:
585:
586:

SUBROUTINE FACEO03
IMPLICIT NONE
INTEGER L,REFsci,Msci
REAL OAx,0Ay,OAz
REAL APx,APy,APz
REAL TXsci, TYsci,TZsci
REAL A,B,C,D,t

REAL OPx,0Py,OPz
REAL ANGLE,P

REAL LENGTHsci,theta,phi
REAL APC

587:

588:
589:

COMMON /POINT/OAx,0Ay,0Az,APx,APy,APz,L,theta,phi
COMMON /TSCINTI/TXsci,TYsci,TZsci,REFsci, LENGTHsci,Msci
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590:

591:
592:
593:
594:

A=1.0
B=0.0
C=0.0
D=0.0

595:

596:

597:

598:
599:
600:

OPx=0Ax+t*APx
OPy=0Ay+t*APy
OPz=0Az+t*APz

601:

602:
603:

IF((OPy.GE.0.0).AND.(OPy.LE.TYsci). AND.
&(OPz.GE.TZsci).AND.(OPz.LE.0.0)) THEN

604:

605:
606:
607:

&(SQRT(A**24+B**2-4 C*¥2)))
ANGLE=ACOS(P)*180.0/3.141592

608:

609:

610:

611:
612:

IF(ANGLE.LT.39.265247) THEN
L=99

613:

614

615:
616:
617:
618:

619

kR ok ok o
* write(6,*)OAz,0Ax,0Ay

* write(6,*) OAz,0Ax

* write(6,*) OAz,0Ay

* write(ﬁ,*) ’***************’,REFSCi

W 3kttt sk sk skt skok sk kosk

620:

621:
622:
623:
624:

ELSE

REFsci=REFsci+1
LENGTHsci=LENGTHsci+SQRT((OPx-OAx)**2
&+(OPy-OAy)**2+4(0OPz-OAz)**2)

625:

626:
627:
628:
629:
630:
631:
632:

APx=0Px-OAx

APy=0Py-OAy

APz=0PzOAz
APC=-2.0%(A*APx+B*APy+C*APz)/(A**2 B*¥*¥24-C**2)
APx=APx+APC*A

APy=APy+APC*B

APz=APz+APC*C

633:

634:
635:
636:

OAx=0Px
OAy=OPy
OAz=0Pz

637:

638:

L=3

639:

640

641:
642:
643:

644

sk ko ROk

* write(6,%)OAz,0Ax,0Ay
* write(6,*) OAz,0Ax

* write(6,*) OAz,0Ay

&Skokeskokok skokokokokokokok

645:

646

: ENDIF

647:

648

: ENDIF

649:

t=-((A*OAx+B*OAy+C*OAz+D)/(A¥*APx+B*APy+C*APz))

P=(A*APx+B*APy+C*APz)/((SQRT(APx**24 APy**24 AP7**2))*

IF((ANGLE.GE.90.0).AND.(ANGLE.LE.180.0)) ANGLE=180.0-ANGLE
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650

651:

: RETURN
END

652:

653

% 04 04 04 04 04 04 04 04 04 04 04 04

654:

655:
656:
657:
658:
659:
660:
661:
662:
663:
664:
665:

SUBROUTINE FACEO04
IMPLICIT NONE
INTEGER L,REFsci,Msci
REAL OAx,0Ay,OAz
REAL APx,APy,APz
REAL TXsci,TYsci,TZsci
REAL A,B,C,D,t

REAL OPx,0Py,OPz
REAL ANGLE,P

REAL LENGTHsci,theta,phi
REAL APC

666:

667:
668:

COMMON /POINT/OAx,0Ay,0Az,APx,APy,APz,L,theta,phi
COMMON /TSCINTI/TXsci,TYsci,TZsci,REFsci, LENGTHsci,Msci

669:

670:
671:
672:
673:

A=0.0
B=1.0
C=0.0
D=0.0

674:

675:

t=-((A*OAx+B*OAy+C*OAz+D)/(A*APx+B*APy+C*APz))

676:

677:
678:
679:

OPx=0Ax+t*APx
OPy=0Ay+t*APy
OPz=0Az+t*APz

680:

681:
682:

IF((OPx.GE.0.0).AND.(OPx.LE.TXsci).AND.
&(OPz.GE.TZsci).AND.(OPz.LE.0.0)) THEN

683:

684:
685:
686:

P=(A*APx+B*APy+C*APz)/((SQRT(APx**2++ APy**24+ APz*¥2))*
&(SQRT(A**2+4B**24+C**2)))
ANGLE=ACOS(P)*180.0/3.141592

687:

688:

IF((ANGLE.GE.90.0).AND.(ANGLE.LE.180.0)) ANGLE=180.0-ANGLE

689:

690:
691:

IF(ANGLE.LT.39.265247) THEN
L=99

692:

693

694:
695:
696:
697:

698

sk ok ok
* write(6,%)OAz,0Ax,0Ay

* write(6,*) OAz,0Ax

* write(6,*) OAz,0Ay

* write(6,%) MRERRRRR Rk RE RS
kR R o

699:

700:
701:
702:
703:

ELSE

REFsci=REFsci+1
LENGTHsci=LENGTHsci+SQRT((OPx-OAx)**2
&+(OPy-OAy)**2+4(0OPz-OAz)**2)

704:

705:
706:
707:
708:
709:

APx=0Px-OAx

APy=0Py-OAy

APz=0Pz-OAz
APC=-2.0%(A*APx+B*APy+C*APz)/(A**24B**2+C**2)
APx=APx+APC*A
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710:
711:

APy=APy+ APC*B
APz=APz+APC*C

712:

713:
714:
715:

OAx=0Px
OAy=OPy
OAz=0Pz

716:

717

L=4

718:

719

720:
721:
722:

723

ko ok ok o
* write(6,*)OAz,0Ax,0Ay
* write(6,*) OAz,0Ax
* write(6,*) OAz,0Ay

W 3kskeskoste sk sk sk skok sk keok

724:

725

: ENDIF

726:

727

: ENDIF

728:

729

730:

: RETURN
END

731:

732
733
734

3k sk ook sesk sk sesk sk kst skesk sk sk sk sk sk sk sk sk skt sk sk sk sk sk sk sk sk sk stk sk skosk skokoskokoskokokok

* Light Guide

& esfeskeok sk st skl sk st sk kok st skskok ke skoskok skoskok skoskokokoskokokoskokokok skokok skokokoskokokoskokokokok

735:

736

K PMT face *¥kxssokk

737:

738:
739:
740:
741:
742:
743:
744:
745:

SUBROUTINE PMTFACE
IMPLICIT NONE
INTEGER L,Mlg,REFlg
REAL OAx,0Ay,OAz
REAL APx,APy,APz
REAL TXIlg,TYlg, TZlg
REAL A,B,C,D,t

REAL OPx,0Py,OPz

746:

T4T:
748:

REAL LENGTHIg
REAL r,rxy,theta,phi,tan0

749:

750:
751:

COMMON /POINT/OAx,0Ay,0Az,APx,APy,APz,L theta,phi
COMMON /TLG/TXlg,TYlg, TZlg,REFlg, LENGTHIg,Mlg

752:

753:
754:
755:
756:

A=0.0
B=0.0
C=1.0
D=-Tzlg

757:

758:

t=-((A*OAx+B*OAy+C*OAz+D)/(A*APx+B*APy+C*APz))

759:

760:
761:
762:

OPx=0Ax+t*APx
OPy=0Ay+t*APy
OPz=0Az+t*APz

763:

764:
765:

IF((OPx.GE.-2.0).AND.(OPx.LE.2.0).AND.
&(OPy.GE.-2.0).AND.(OPy.LE.2.0)) THEN

766:

767:

768:

769:

LENGTHIg=LENGTHIg+SQRT((OPx-OAx)**2+4(OPy-OAy)**2+(0OPz-OAz)**2)
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770: L=9999

771:

772: APx=0Px-OAx

773: APy=0Py-OAy

774: APz=0Pz-OAz

775:

776: OAx=0Px

777: OAy=0OPy

778: OAz=0Pz

779:

780 Kk ko

781:* write(6,*)OAz,0Ax,0Ay

782:* write(6,*) OAz,0Ax

783:* write(6,*) OAz,0Ay

784:* write(6,*) ’fin’,REFIg

78 ks ko

786:

787:* r=SQRT(APx**2+APy**24+APz**2)

788:* rxy=SQRT(APx**2+APy**2)

789:* theta=ACOS(APz/r)*180.0/3.141592

790:* tan0=TAN((90.0-theta)*3.141592/180.0)
791:*

792:* IF((APx.GE.0.0).AND.(APy.GE.0.0)) THEN
793:* phi=ACOS(APx/rxy)*180.0/3.141592

794:* ELSE IF((APx.LT.0.0).AND.(APy.GE.0.0)) THEN
795:* phi=ACOS(APx/rxy)*180.0/3.141592

796:* ELSE IF((APx.LT.0.0).AND.(APy.LT.0.0)) THEN
797:* phi=360.0-(ACOS(APx/rxy)*180.0/3.141592)
798:* ELSE

799:* phi=360.0-(ACOS(APx/rxy)*180.0/3.141592)
800:* ENDIF
801:

802:* WRITE(6,*) OAx,0Ay,APx,APy,APz

803:* WRITE(6,*) OAx,0Ay,REFlg

804:* WRITE(6,*) TIME,REFIg,tan0

805:* WRITE(6,*) theta

806:* WRITE(6,*) theta,phi,REFlg

807:

808: ENDIF

809:

810: RETURN

811: END

812:

g1 3. kkkkrkk END END ENID kot sk koo

814:

815: SUBROUTINE ENDlg

816: IMPLICIT NONE

817: INTEGER L,REFIg,Mlg

818: REAL OAx,0Ay,0OAz

819: REAL APx,APy,APz

820: REAL TXIlg, TYlg, TZlg

821: REAL A,B,C,D,t

822: REAL OPx,0Py,OPz

823: REAL LENGTHIg,theta,phi

824:

825: COMMON /POINT/OAx,0Ay,0Az,APx,APy,APz,L,theta,phi
826: COMMON /TLG/TXlg,TYlg, TZlg, REFlg, LENGTHIg,Mlg
827:

828: A=0.0

829: B=0.0

)

’



830: C=1.0

831: D=0.0

832:

833: t=-((A*OAx+B*OAy+C*OAz+D)/(A*APx+B*APy+C*APz))
834:

835: OPx=0Ax+t*APx

836: OPy=OAy-+t*APy

837: OPz=0Az+t*APz

838:

839: IF((OPx.GE.-TXlg ).AND.(OPx.LE.TXlg).AND.
840: &(OPy.GE.-TYlg).AND.(OPy.LE.TYlg)) THEN
841:* write(6,*) ki RER]g1,0Ax,0Ay,0Az
842: L=9999

843:

QU sk o

845:* write(6,%)OAz,0Ax,0Ay

846:* write(6,*) OAz,0Ax

847:* write(6,*) OAz,0Ay

848:% write(6,*) MFFRRHOOOOOO RER]g

Q.G skkok ko ko

850:

851: ENDIF

852:

853: RETURN

854: END

855:

856:

857:% 11 11 11 11 11 11 11 11 11

858:

859: SUBROUTINE FACE11

860: IMPLICIT NONE

861: INTEGER L,REFIg,Mlg

862: REAL OAx,0Ay,0OAz

863: REAL APx,APy,APz

864: REAL TXlg, TYlg, TZlg

865: REAL A,B,C,D,t

866: REAL OPx,0Py,0Pz

867: REAL ANGLE,P

868: REAL LENGTHIg,theta,phi

869: REAL APC

870:

871: COMMON /POINT/OAx,0Ay,0Az,APx,APy,APz,L,theta,phi
872: COMMON /TLG/TXlg,TYlg, TZlg, REFlg, LENGTHIg,Mlg
873:

874: A=TZIg/(2.0-TXIg)

875: B=0.0

876: C=-1.0

877: D=-TZIg*TXlg/(2.0-TXlg)

878:

879: t=-((A*OAx+B*OAy+C*OAz+D)/(A*APx+B*APy+C*APz))
880:

881: OPx=0OAx+t*APx

882: OPy=0Ay+t*APy

883: OPz=0Az+t*APz

884:

885: IF((OPz.GE.0.0).AND.(OPz.LE.TZlg).AND.

886: &((-0.5*TZlg*OPy-OPz+2.0¥TZlg).GE.0.0).AND.
887: &((0.5*TZlg*OPy-OPz+2.0*TZlg).GE.0.0)) THEN
888:

889: P=(A*APx+B*APy+C*APz)/((SQRT(APx**2+APy**24 APz**2))*
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890:
891:

&(SQRT(A**24B**24C**2)))
ANGLE=ACOS(P)*180.0/3.141592

892:

893:

IF((ANGLE.GE.90.0).AND.(ANGLE.LE.180.0)) ANGLE=180.0-ANGLE

894:

895:
896:

IF(ANGLE.LT.42.155184) THEN
L=9999

897:

898

899:
900:
901:
902:

903

sk ok ok
* write(6,%)OAz,0Ax,0Ay
* write(6,*) OAz,0Ax
* write(6,*) OAz,0Ay

* Write(G,*) ’***************,,REFlg
W 3kskeskoste sk sk sk skok sk keok

904:

905:
906:
907:

ELSE
REFIg=REFIg+1
LENGTHIg=LENGTHIg+SQRT((OPx-OAx)**2+(OPy-OAy)**2+(0OPzOAz)**2)

908:

909:
910:
911:
912:
913:
914:
915:

APx=0Px-OAx

APy=0Py-OAy

APz=0Pz-OAz
APC=-2.0%(A*APx+B*APy+C*APz)/(A**24B**2+C**2)
APx=APx+APC*A

APy=APy+APC*B

APz=APz+APC*C

916:

917:
918:
919:

OAx=0Px
OAy=OPy
OAz=0Pz

920:

921:

L=11

922:

923

924:
925:
926:

927

kR ok ok o
* write(6,*)OAz,0Ax,0Ay
* write(6,*) OAz,0Ax
* write(6,*) OAz,0Ay

W 3kttt sk sk skt skok sk kosk

928:

929:

ENDIF

930:

931:

ENDIF

932:

933:
934:

RETURN
END

935:

936

*1212 1212121212 12 12

937:

938:
939:
940:
941:
942:
943:
944:
945:
946:
947:
948:

SUBROUTINE FACE12
IMPLICIT NONE
INTEGER L,REFIg,Mlg
REAL OAx,0Ay,OAz
REAL APx,APy,APz
REAL TXIlg,TYlg, TZlg
REAL A,B,C,D,t

REAL OPx,0Py,OPz
REAL ANGLE,P

REAL LENGTHIg,theta,phi
REAL APC

949:
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950:
951:

COMMON /POINT/OAx,0Ay,0Az,APx,APy,APz,L theta,phi
COMMON /TLG/TXlg,TYlg, TZlg,REFlg, LENGTHIg,Mlg

952:

953:
954:
955:
956:

A=0.0
B=-0.5*TZIg
C=-1.0
D=2.0*TZIg

957:

958:

t=-((A*OAx+B*OAy+C*OAz+D)/(A*APx+B*APy+C*APz))

959:

960:
961:
962:

OPx=0Ax+t*APx
OPy=0Ay+t*APy
OPz=0Az+t*APz

963:

964:
965:
966:

IF((OPz.GE.0.0).AND.(OPz.LE.TZIg).AND.
&((-TZlg*(OPx-TXlg)/(2.0-TXlg)+OPz).GE.0.0).AND.
&((-TZlg*(OPx+TXlg)/(-2.04+TXlg)+OPz).GE.0.0)) THEN

967:

968:
969:
970:

P=(A*APx+B*APy+C*APz)/((SQRT(APXx**24 APy**24 AP7**2))*
&(SQRT(A**24B**24+C**2)))
ANGLE=ACOS(P)*180.0/3.141592

971:

972:

IF((ANGLE.GE.90.0).AND.(ANGLE.LE.180.0)) ANGLE=180.0-ANGLE

973:

974:

975

IF(ANGLE.LT.42.155184) THEN
: L=9999

976:

977

978:
979:
980:
981:

982

kR ok ok o
* write(6,*)OAz,0Ax,0Ay

* write(6,*) OAz,0Ax

* write(6,*) OAz,0Ay

* write(ﬁ,*) ’***************’,REFlg
sk ok ok

983:

984:
985:
986:

ELSE
REFlg—REFIg+1
LENGTHIg=LENGTHIg+SQRT((OPx-OAx)**2+4(OPy-OAy)**2+(0OPz-OAz)**2)

987:

988:
989:
990:
991:
992:
993:
994:

APx=0Px-OAx

APy=0Py-OAy

APz=0Pz-OAz
APC=-2.0%(A*APx+B*APy+C*APz)/(A**24B**2+C**2)
APx=APx+APC*A

APy=APy+APC*B

APz=APz+APC*C

995:

996:
997:
998:

OAx=0Px
OAy=OPy
OAz=0Pz

999:
1000: L=12

100

1:

1002 FH ks kK
1003:* write(6,*)0Az,0Ax,0Ay
1004:* write(6,*) OAz,0Ax
1005:* write(6,*) OAz,OAy
1006 HF kot sk ok

1007:

1008: ENDIF

1009:
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1010

: ENDIF

1011:

1012

1013:

: RETURN
END

1014:
1015:

1016

%13 1313 13 13 13 13 13 13

1017:

1018:
1019:
1020:
1021:
1022:
1023:
1024:
1025:
1026:
1027:
1028:

SUBROUTINE FACE13
IMPLICIT NONE
INTEGER L,REFlg,Mlg
REAL OAx,0Ay,0Az
REAL APx,APy,APz
REAL TXlg,TYlg,TZlg
REAL A,B,C,D,t

REAL OPx,0Py,OPz
REAL ANGLE,P

REAL LENGTHIg,theta,phi
REAL APC

1029:

1030:
1031:

1032:

1033:
1034:
1035:
1036:

A=TZlg/(-2.0+TXlg)
B=0.0

C=1.0
D=TZlg*TXlg/(-2.0-TXlg)

1037:

1038:

1039:

1040:
1041:
1042:

OPx=0Ax+t*APx
OPy=0Ay+t*APy
OPz=0Az+t*APz

1043:

1044:
1045:
1046:

1047:

1048:
1049:
1050:

IF((OPz.GE.0.0).AND.(OPz.LE.TZIg). AND.
&((-0.5*TZIg*OPy-OPz+2.0*TZIg).GE.0.0).AND.
&( (0.5*TZIg*OPy-OP2z+2.0*TZlg).GE.0.0)) THEN

COMMON /POINT/OAx,0Ay,0Az,APx,APy,APz L theta,phi
COMMON /TLG/TXlg,TYlg,TZlg,REFlg, LENGTHIg,MIg

t=-((A*OAx+B*OAy+C*OAz+D)/(A*APx+B*APy+C*APz))

P=(A*APx+B*APy+C*APz)/((SQRT(APx**24+ APy**24 APz**2))*
&(SQRT(A**24B**24-C**2)))
ANGLE=ACOS(P)*180.0/3.141592

1051:

1052:

1053:

1054:
1055:

L=9999

1056:

1057
1058
1059
1060
1061
1062

SRRk ok
* write(6,*)OAz,0Ax,0Ay
* write(6,*) OAz,0Ax
* write(6,*) OAz,OAy

ok Write(G,*) ’***************’,REFlg

& 33k kok ook dkok ok ok ok

1063:

1064:
1065:
1066:

ELSE
REFlg=REFIg+1

1067:

1068:
1069:

APx=0Px-OAx
APy=0Py-OAy

IF(ANGLE.LT.42.155184) THEN

IF((ANGLE.GE.90.0).AND.(ANGLE.LE.180.0)) ANGLE=180.0-ANGLE

LENGTHIg=LENGTHIg+SQRT((OPx-OAx)**2+4(OPy-OAy)**2+(OPz-OAz)**2)
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1070:
1071:
1072:
1073:
1074:

APz=0Pz-OAz
APC=-2.0%(A*APx+B*APy+C*APz)/(A**24 B¥*24 C**2)
APx=APx+APC*A

APy=APy+APC*B

APz=APz+APC*C

1075:

1076:
1077:
1078:

OAx=0Px
OAy=0Py
0OAz=0Pz

1079:

1080:

L=13

1081:

1082
1083
1084
1085
1086

SRRk kR ok
7 write(6,¥)OAz,0Ax,0Ay
7 write(6,*) OAz,0Ax
* write(6,*) OAz,OAy

« 3ksk sk sk sk sk ks skosk skok sk

1087:

1088

: ENDIF

1089:

1090

: ENDIF

1091:

1092

1093:

: RETURN
END

1094:

1095

*141414 141414 14 14 14 14

1096:

1097:
1098:
1099:
1100:
1101:
1102:
1103:
1104:
1105:
1106:
1107:

SUBROUTINE FACE14
IMPLICIT NONE
INTEGER L,REFlg,Mlg
REAL OAx,0Ay,0Az
REAL APx,APy,APz
REAL TXlg,TYlg,TZlg
REAL A,B,C,D,t

REAL OPx,0Py,OPz
REAL ANGLE,P

REAL LENGTHIlg,theta,phi
REAL APC

1108:

1109:
1110:

COMMON /POINT/OAx,0Ay,0Az,APx,APy,APz,L theta,phi
COMMON /TLG/TXlg,TYlg,TZlg,REFlg, LENGTHIg,Mlg

1111:

1112:
1113:
1114:
1115:

A=0.0
B=0.5*TZIg
C=-1.0
D=2.0%TZlg

1116:

1117:

t=-((A*OAx+B*OAy+C*OAz+D)/(A*APx+B*APy+C*APz))

1118:

1119:
1120:
1121:

OPx=0Ax+t*APx
OPy=0Ay+t*APy
OPz=0Az+t*APz

1122:

1123:
1124:
1125:

IF((OP2.GE.0.0).AND.(OPzLE.TZlg). AND.
&((-T71g*(OPx-TXlg)/(2.0-TXlg)+OPz).GE.0.0).AND.
&((-TZlg*(OPx+TXlg)/(-2.0+ TXlg)+OPz).GE.0.0)) THEN

1126:

1127:
1128:
1129:

&(SQRT(A**24B**2+C**2)))
ANGLE=ACOS(P)*180.0/3.141592

P=(A*APx+B*APy+C*APz)/((SQRT(APx**24+ APy**24 AP7**2))*
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1130:

1131

: TF((ANGLE.GE.90.0).AND.(ANGLE.LE.180.0)) ANGLE=180.0-ANGLE

1132:

1133
1134

: [F(ANGLE.LT.42.155184) THEN
: L=9999

1135:

1136
1137
1138
1139
1140
1141

kR ok o
7 write(6,¥)OAz,0Ax,0Ay

* write(6,*) OAz,0Ax

* write(6,*) OAz,OAy

:* Write(G,*) ’***************’,REFlg

& 33k kok ook dkok ok ok ok

1142:

1143:
1144:
1145:

ELSE
REFIg—REFlg+1
LENGTHIg=LENGTHIg+SQRT((OPx-OAx)**2+4(OPy-OAy)**2+(OPz-OAz)**2)

1146:

1147:
1148:
1149:
1150:
1151:
1152:
1153:

APx=0Px-OAx

APy=0Py-OAy

APz=0Pz-OAz
APC=-2.0*(A*APx+B*APy+C*APz)/(A**24+B**2+4+C**2)
APx=APx+APC*A

APy=APy+APC*B

APz=APz+APC*C

1154:

1155:
1156:
1157:

OAx=0Px
OAy=0OPy
OAz=0Pz

1158:

1159:

L=14

1160:

1161
1162
1163
1164
1165

:************

7 write(6,¥)OAz,0Ax,0Ay
* write(6,*) OAz,0Ax

* write(6,*) OAz,0Ay

o 3Rk kok ook ok ok ok ok

1166:

1167:

ENDIF

1168:

1169:

ENDIF

1170:

1171:
1172:

RETURN
END

1173:

1174
1175
1176

&k skeskok sk sk skl sk steskkok ke skskok skeskokoskokokokokoskokokoskokoko skokokoskokokoskokokok

* random numbers according to function of SINE
& 3 3kksk sk ok skosk sk sk kol sk sk skokoskeosk sk ok skokosk sk skokokokok sk skokokokoskoskoskoskokokokosk

1177:

1178:
1179:
1180:
1181:
1182:

REAL FUNCTION RANSIN(RANDOM]1)

REAL RANDOM1
RANSIN=2%3.141592*SIN(RANDOM1*3.141592/180.0)
RETURN

END

1183:

1184
1185
1186

&k skeskok ok stk ok k sk skok ok ke stk sk skl skeskok skt skokoskoskolkok skokokoskokokoskokok skokokok

¥ Light Output - Time
SRRk R R R K R

1187:

1188
1189

: REAL FUNCTION RISE2DECAY(RANDOM?2)
: REAL RANDOM2
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1190: RISE2DECAY=(EXP(-RANDOM2/0.7)-EXP(-RANDOM?2/1.8))/(0.7-1.8)
1191: RETURN

1192: END

1193:

1195:

1196:






